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PAPER -1
GENERAL KNOWLEDGE

Examine the following statements :

A. The highest criminal court of the district
is the Court of District and Sessions
Judge.

B. The District Judges are appointed by
the Govemor in consultation with the
High Court.

C. A person to be sligible for appointment
as a District Judge should be an
advocate or a pleader of seven years
standing or more, or an officer in
judicial service of the union or the
state.

D. When the Session Judge awards
death sentence, it must be confirmed
by the High Court before it is carried
out. :

Choose the correct answer .

(1) A,B,CandD (2) B,CandD only

(3 CandDonly (4 A and B only

2808 i 08000 :

A Ber €5 HOCD DAS) 2¢

&R
Ay ﬁl‘ﬂiﬂﬁ' D edogdy e B
5. &
B, oM #3605 © TR 2 4.

Hohdod AeF o
AT

C. AT 2megs Y
S Dodé %ﬂcﬁn
©odsT) I8

Sor 2abr
o BEoR oS DI

©0B0DS SO5H wonHoTd.
D. A o 2 DOOVS
5 oendd Sotd

@ B,
3 C SHoc» D Sﬁﬂ_éﬂa
(4) ABcnB Smead

Who is regarded as father of local self
government in India ?

(1) Lord Dalhousie (2) n

(3) Lord Bentinck  (4) elleslay
arshE3d WS s §
S0y Qa0 ?

(1) B &S (2) § 85
@ oBBosel (@ oQIV

lowing countries with
{ Unted States of America
; amaﬂcﬁasavaarsagu?

(2) Irag

) Irar (4) Cuba

Gl 5038300 (880 300 TBSR D
oS ooy TEp DODOTOD
3% E00008 7
(1) >ES

(3) |O®

(2) =S
(4) Srgr

Who will act for President when there is
vacancy in the post of president and vice
president ?

(1) Prime Minister

(2) Speaker of Lok Sabha

(3) Chief Justice of India

(4) Nominee of Chief Justice of India

A0S HOCD GHT RIS HBHoS
od DE)AIJp  SH  CRDBT

apessebe BT ?
(1) DS Ho@
(2) S"86 HES
. (3) 205 DTN T osrd
@) s DT eV N et
DoHMoDHadS 358
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5.  Which of the following aspects are correct
with regard to 'brexit’ 7

A. Brexit referendum was held on 234
May, 20186,

B. The UK voted to leave the European
Union with a simple majority.

C. The UK is scheduled to depart at 11

pm UK time on Friday 29" March,
2018,
Choose the correct answer :
(1) AandBonly (2) AandC only
(4) ABandC

13865 & Ho20800 208 Fipiod
o) AOTID 7

(3) BandConly

A. |238)5 Dabodo D 23, 2016
S serodSadod.

B. hrfhahd rdohd
0008 cvad o)
Do Dardds Lmé‘é@m

80508, \&
C. chuZnsE Sokdo @o B0

Srdy 29, 201 ove 11
flotesh RGNS 00O,
O B § Sabod :
(1) Ao &b
(2 A C Sred3d
(3) B OGN C Srebad
(4) A BS8anC

40118

6.  Which of the following pairs are correct 7

A. The authority - State Election
which conducts Commission
elections to local
bodies
B. The institution @ Finance

which suggests mmission

the division of O

funds between

state govern

and local x
C. Thesla | - Andhra

Wgﬂ to Pradesh

raj
@m in India
the correct pairs :

A,BandC (2) AandB only

0} AandConly (4) BandC only

800 adods’ DD HOTd 7
A, ¥ Hoyerdy - O3 D) Eey
23 Sen AEsarod HoMo
odHs00 50b
B. o 19ab&S g0 - O% TN
Bvilolari Vsl a0
ROPE DG AHO
DE5eacs Th Hoy
C. rdsdiod - 803158 T
RWARWATA,
Homrave oo
353D HFF DS
o @0
HOTeS B0 JODE Fdhod !

(1) A, B &0csn C

- (2) A S0y B Srehdh
(3) A B C Sresad
(4) B S0a%n C Smedsh
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Which of the following pairs are correct ?

A. Year in which internal - 1973
emergency was imposed
B. Year in which 73~ and - 1993

74" amendments to the
Constitution were
passed by the
Pariiament

C. Year in which Sarkaria - 1983
Commission was
appointed to study
Centre-State relations

Choose the correct pairs :

(1) A,BandC  (2) AandBonly

(3) AandConly (4) BandC only

20A 2eerdS’ DO HOTAD ?

A ©0dde NP - 1973
DEODS M08 00

B. 733 SoBan 745 orargofi  — 1993
HES@en FoHodSS
SRTFOHOVAS
HoSed 00

C. Sold-ora dowogresy - 1983
65§00 TS
Ho, 805 SaA®
DaHONDAD
DOSES YOO

HOTS 2SN JODS FTOLOG

(1) A, B&On C

(2) A S8 B IS
(3) A 28asn C Sresd
(4) B SB050 C Aredad

Examine the following statements .

A. According to the Constitution of India,
directive principles of the state policy
are fundamental for the governance of
the county.

8. In the Constitution of India, promotion of
intemational peace and security are
included in the part of fundamental duties.

Choose the correct answer :

(1) Only Als correcl.

(2) Only B is correct.

(3) Both A and B are correct.

(4) Both A and B are incorrect.

80O DHSeed H8OoB0h :

A TF Foddh Howodod rdsé
oergoriods wdfE  Ar@en
DI,

B. 2rd OCriofod wodgach
708, HOSVD  DOFOBOT
BOPeY [rONS IO riod
&™) 0.

HOTWS T2V OIS Enfovilela B

(1) A 3P AOTDAG

(2) B Arehsd 00D

(3) A 8050 B Bodr HOSD

(4) A 80w B Bodr H0GDHR Sa)

Examine the followirig statements about

the Preambile of the Indian Constitution :

A. The preamble of the Indian Constitution

is based on the ohjective resolution.

B. The Preamble states that it derives its

authority from the people of India.

Choose the correct answer !

(1) Only A is correct.

(2) Only B is correct.

(3) Both A and B are correct.

(4) Both A and B are incorrect.

e oerof DO5H DoWOHODD

208 D360 H83Dotoh

A esien, aioire SoS0R oS
orersoli HoE emdddod.

B. ordd ool 205 19500
oerolfio 88 @HSTR) arses
Dae Hod (Herapod.

HOTDS 2T ODE TAVOG :

(1) A SrSsh A8QIS

(2) B Sredd OO 0

«(3) A 0ok B Body S0
(4) A Sdcin B Doar HETAD Sy
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10.

«(1) A,B

40118

Examine the following pairs : 11. Armrange the following Attorney Generals
A. The year in which - 1990 of India in a chronological order :
Indian Parllament A. Mukul Rohatagi B. Soli Sorabjee
passed the SC/ST C. AshokDesai D. G.E.Vahanavati
Atrocities Act E. KJK. Venugopal
e : Choose the correct order : =

B. The state which - Maharashtra (1) A,C,D,BandE (2) C,B, D, Aand E
prominently (3) B,E,C,AandD (4) E, Al D™ and C
associated with the 808 2588 rOSTEYN oer8)
Dallt Panthers 230G )0 SOEIFDIE0 GV I0A :

c :f.f"a ity Republican Al amsn @ St

: - Repu P!

Castes Federation Party C. o35 B7raw D 2.3, TS5
in 1956 was B 53, .
converted Into a OIS (557D D JODE Tahod
party A1) A,C, D.m E

D. The First Backward - Mandal (2) C, E,QN oo E
Classes Commission (3) B, w’ 8ain D
Commission 4) E S0do C
appointed by the m
Indian Government 12. following statements :

Choose the incorrect pair/s : A.The aT:' -:#ﬁﬂﬁﬂdﬂf Supreme Gﬂ:: of

(1) A,BandConly (2) A,CandD only pmsidznf;,j‘;nﬁf s e

(3) AandDonly (4) Bonly *The chief lagal advisor (officer) of the

806 adOX H07D0B0A : central government in India is known as

Solicitor General.

AREBTeRed = 1907 C. The Lok Adalat is an alternative body for
DN/ TR dispute settlement. It is a statutory
ST, BIFO0DS body.

N0 80 Choose the correct answer :

B. O&THOS 808 - i (3 BandConly (8§ AandConn
0dBy a0 L. 50 aancCony
asy A’}f: 808 DSB@eD H8Dotiod :

; g "“gn 20O A. 2088 2tho FE (DO T IcHBrod
< O $HBC5N ASS T gAhArHed 2rses

C. 1956 &' n&rd - 59 OLRHS DA .
e B. 2r68TH0S' ol 19S5 BHES

JDG0 i T HO0 ROITOE) (@HEON)

D. 3786 Hzhes 5 - ok ‘DOVOE 3365’ © SESTOTE.

AT vi e TATN] SHV T

S8
AN

DOPAD

2eber 8 JODE Tohod !
C Sriebsdh

(2) A, C 5805 D Srad

(3) A8 D ArsSH
{(4) B Sre&D

C.58 oorod o8 ¢ [HEsryoh
DS BB 20D, ed
INATA ARV A

ROTDA BT 20D QODE TOHOA

A1) A, Banbcin C

(2) A D805 B SriesD

(3) B %805 C Irad

(4) ADHBC C Sressh
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13. In regard to Question Hour in Parliamant,

what is the meaning of starred question 7
(1) Important question

(2) Requires written raply

(3) Requires oral reply

(4) There are no sub-questions.
>EDoSS’ E33S 838 K Sonodod
DB %5% (starred question) @ oo ?

(1) SR (94)

(2) Tyt s HSrerso 80D
.(3) STDE HIrEdo 8FoD0

(4) &d DI BddS0E

13, Examine the following pairs :
A. 1989 : The coalition era at union
government level in India started.
1909 : The post of District Collector
was created In India.
Article 32 : Regarded as the hear
and soul of the Indian Constitution by
Dr. B.R. Ambedkar. -

C.

Choose the correct pair(s) : =

(1) AandBonly (2) AandC \

(3) A,BandC (4) Con

808 B HBO0LB0H ;

A. 1989: 2r8&Td0 5088
(PZher e i TR AT
~0eeh 00, ?b

B. 1909 : 2308 Ber EB50

HEDD Doygen Fhd vosS80
325 a.%: ardéd orarjoras

T8 v adyr am Deb
®0 ©)IQ00 @HE0@0.
HB 2e8(3)ed) donE Do :

( din B Sresh
.(2) A SB05m C SmED
(3) A, Bs0OdinC
(4) C Sred
40118

15. The president of India is elected by
'Electoral College' consisting of

(1) Ali the Members of Pariament and
State Legislative Assemblies

Elected Members of Parli

(3) m '
(4) Elected Man@}ﬂ Parliament

PSS TLRRBV, 0 HT  DosS
cda & 29050 DS 7

>EolS Hoa O1R A
%Eﬂﬁﬁ) HEHgen.

r@ﬁ'm& SEBoS SO
Cl; 5 BARAS e HLogen.
)

rEodS Sjen wodh.

(2) ent and

es

bo.{l] ) 2088 arEodd Ngbsen.

16, Who among the following presided over

the first meeting of the Constituent
Assembly on the basis of seniority ?

(1) Dr. B.R. Ambedkar
(2) Rajendra Prasad
(3) Vallabhbhai Patel
(4) Sachidananda Sinha

5,050 | DDHAES 808 FBS IS5
Is8 ool enod)  Helois
e85 & Strotrdd ?

(1) §6 D.eb. 0080
(2) ocZol& |

(3) 39F arod IS

(4) RADIEHOL VT

Series-A



A7. Match the following : : . | 18. The first states to pass the 'Right to
List = List = I Information Act' were :

A. Charter Act 1. Introduction of (1) Delhi and Haryana
1833 responsible (2) Kamataka and Kerala

Government of India (3) Rajasthan and Maha
B. Govenment of 2. Introduced a federal (4) Tamil Nadu and Goa

India Act 1858 form of government ‘3655_.?13'15 TE O sl

C. Government of 3. Abolished the East ~ESrA0DD TP
India Act 1919 India Company () ‘:‘Q 000k S

D. Government of 4. East india Company (2)-" SO &% we

India Act 1935  became an (8) o2 SaFor R
administrative body (4) é:f#@acﬁn Far

Rl 19, Arrangxm\; following ~ Constitutional

Do -| e -l in & chronological order :

A 08 atr§ 1. rsd8iost A_s~=Introtuction of Article 16 (4) providing
. 1833 2 sebiies foF reservation in education.

BHEhEr Dy @Intmduutiun of Article 16 (4A) providing
5352880 for reservation in promotions.
E ,t: Introducing the 10" Scheduls to the

B. 2rdeé 2. DASS (Dadryg) Constitution.

220 50 ey ¢ - D. Introduction of the National Judicial
airys - 1858 BRI TAfeTa) Appointments Commission (NJAC).

C. erds 3. &% soddl: £08 Trargol Hddmodd soEsrd-
D29 g0 L0282 oo @l yod
o8 - 1919 H2 08 A dorpssred 8285AS) 0 08

. ©HESD0 15(4)D |HBF Yo,

& v . & %" B. |OFASYS' BaBsiSy $Dy0F
BSs0 5% SO0 16 4) & (IIFDEGo.
-1, :Jf;: = C. Targofios 105  DAMSS

: DIF S0 .

Chooes the co s - D. 2radd TIoH AArDse EDAS

DOPS sse DoHE Tobod : (DSBID) QDI DL G0.

{1) A4, B- . D-1 Choose the correct order/answer :

@) A2 _& o D 0P  ESRYBTD o

Wahod ;
B A1, B804 D4 _ A1) A,B,C.D (2) A, C,B,D
A47"A4, B3, C-1, D-2 (3) B,.C,D,A (4 D,C,AB

40118 9 i



20.

21.

(1) A.B,C,D () D,C,B,A
(3) B,C,AD 4 C,ABD
Match the following : -
List -1 List - i
A, Doctrine of 1. Legislature
pleasure
B. Curative petition 2. Suprama@
C. Privileges 3, High \
D. Suparvisory 4, E%
jurisdiction
800 T3 OGN0l :
Do -1 \Eﬂv-ll
A, ©30850 T (brm 5%
Flagel  le
B. Darde HE3A 2. S0 &8
C. |D83D e 330
D. HO§S & 4, OQ50s8S
cofrect pairs/answer
|$SrR)/ 220 ~ohE Fabod
1, B2, C-3, D4

40118

Arrange the following in a chronological
order on the basis of their cccurrence :

A. Montagu-Cheimsford Reforms

B. Simon Commission

C. Minto Morley Reforms

D. Communal Award

Boa D @2 D00V
SOESrOIEOT 800 ! et
A, Srotfi ) &R r&DF:JE,ﬂ'lE.}J

B. OHSEMAS - \P ¥

C. mod 308 odpsmes \

D. X3S wad

Choose the correct ordar/answer :

HBTS |ESrR/BT20E JoDE Sobod:

{2} A'E. E'1| c"‘"r D'a
(3) A-4, B-2, C-1, D3
4) A3, B-4, C-1, D2

10

Which of the following statements is/are
correct ?

A. Fratemity is a core valua of the Indian
Constitution.

use it is
Il of the

B. It is a core value
explicitty mentioned a

ble and has been held to
the basic structure of the
on.

the correct answer .
] \and Bonly  (2) A and D only
C only (4) A, B and D only
808 DN (TIeS HOPSG/
20/ 7

A. Brigrdydso IO e orargofio
Tl ST O5 dena.

B. a® STDE dend Joodot ards
ooy arg-3d domor
Sayadod.

C. b FOE dend S 2odigot
& orergoliod BHRGBMD.

D. a8 JOs Jend oot gris
ramsotio HosS' .8 arfio HdAkn
2r8ed orargolio ErPs S50
riom th8ordo.

DOTA BT JODS Schod:
(1) A Z8cn B e
L(2) A 5805 D S
(3) C SMedad
(4) A BS80S D Sriehed



Indian Constitution is a quasi federal
because

A. It provides for a distribution of

legislative and executive powers
between the centre and the states.

B. It provides for a legislative assambly

for each stats and a parliament at the

centre.

C. It has a bi-cameral legislature at the
centre which has representation from
all the states.

D. It provides for a federal state in Article
3 of the Constitution which states that
india is a federation of states.

Choose the correct answer ;

(1) A,BandConly (2) A,C andD only
(3) A,BandDonly (4) B,C andD only
i Trargofio ar8E DArmg (s
2A8E8), 200%0T :

A. 20 S0 HOO TErS NG

B. 20 108 oEraE 738 &
S8cty  HokosS G

§0y0od.

C. 286 Boos ®d O
a0 &ol oS
o D8 &otnod

D. a8 ©6%5®o 3%“:; S8%
o0 H8od oS’ DSBIF

=i
=lelalovyy é VTR
DPod. 4

3) A B 5808 D ST
(4) B, C 0 D Sressd

25. B

11

24. The Citizenship (Amendment) Act, 2015

introduced a new category of citizenship
for the persons of Indian Origin of certain
categories. It Is officially termed as ;

(1} Owverseas Citien of India Cardholder
(2) Non-Resident Indian Citi

(3) Indian Citizen Overs

(4) Indian Origin Citizen

DBDBSE (H5S52) O , TEaAH
sorerd SodS § SEverdo 2.8
' S¥0 rSSe ) IS 0d. T
©HSO50T Db
(1) @Sby® Sy 080 $§
oreld
2) ~~ R000H® NSRS

(3) =20 338 L5830
(4) edB® V2N ol2rs

Pariyojana project is
trally funded road and highway
ject.

0 It connects Rajasthan and Gurajat to

Arunachal Pradesh and Mizoram.

b C. It connects Jammu and Kashmir to
TS O J0583S wdsoe Kerala.
HoDeR O 0A. . @

D. It subsumes all existing national
highway projects.

Choose the correct answer :

(1) A.CandDonly (2) A, B andC only

(3) B,CandDonly (4) A, BandD only

rdddre  |1HTrad  |>BE T8

ROVOHODOE ?

A. 0|8 (HZhess Dhod T gh
SHdah Srordhe |ras.

B. 28 oCayw 0 Haocd
LSS (HBT H8a NE'orosd
Sen&08).

C.20 ahrm sb5% dHSes
Senayeod.

D. 28 1HVd0 &) e F8ch
Broberd ©odso Tusioenod.
LOTA Baransd dons Tabod
(1) A, C 58050 D Sressh
(2) A, B 8ok C Aressdh
(3) B, C SBain D Jreash
-(4) A B8ckn D Aressh

Series-A



Who was tha chairperson of tha Second
Administrative Reforms Commission
which was appointed in August, 2005 ?

(1) Justice Kuldeep Singh

(2) Justice J.S. Verma

(3) Dinesh Goswami

(4) Veerappa Moily

i 200585 Dohosnd Boss
Ao Jooytee EDaS )
R0 Y% et ? -

(1) 20 HSEHD nols

- (2) 2RV 2.0, 58

(3) OFTR Ao
@) H6)3wowd

The National Food Security Act 2013
provides for

A. Food and nutritional aacunly

B. Free access to adequate quantity of
food

C. Ensuring access
quantity of food at affordable prices

D.

children

Choose the correct answer :

(1) A,BandConly (2) A, EEI'IdD Dmy'

(3) A,CandDonly (4) B,C andnunly

208 >8S B2 Ko E'.-"M) B
S 560 2013 DSBS 2

A @58 S6CH FASESS.

B. J08fons H0Sr@od’  eirdo
Foch&s D& wds¥o.

HBFans _HAIrmos  alrso
FoHLF), GO sochartns’
SOSLI0, ;

Sorgen, HOAD DR HNE
VIO, BOHOWAO.

HBD Sz Jobf Bohos :
(1)0A8 8050 C Srebdh

(2) A, B S8¢5n D Sr{essh

C.

D.

“(3) A, C0at D Smesh

40118

(4) B, C 5005 D Sressh

to adequate

Nutritional support to women and

12

28. Whu wns nted as the chairperson of
the ‘National Commission to Review the
Eﬁﬂﬂﬁ of the Constitution' by the Atal

a

emment in the
2000, in %u ﬂt of completion of 50 yayﬁs
of tha Indian

stitution 7

1) Justice B.P. Jeevan R
Justice M.N. Venkatacl

3) Justice R.S, Sarkaria

4) Justice K. Punnaiah

arded oargofio 507RoSS e 0
Twosd) dosder, wbd DHS
TEDON P00 2000 Hosdydos'
230 orzrtofio HASTV
dviosarRs, ¢ Zadd SRS
aﬁ::f:s;,rsmm_niimmm ?

(1) 290 DD. 43550

2 (2) ‘208.00.08. Soserseahy
 (3)129%.85.0%. 507,805

{4y 2% 3. Hdyabg

29., Examine the following statements :

+A. The Union Home Ministry notified a
new set of rules to regulate official
visits of Governors outside their

stata.
Now need prior

govemors

73 deys in @ yoor a8
na

visits

Choose the correct option :
(1) Only A is correct.

E%E Only B is correct.

4

Both A and B are correct.
Both A and B are incorrect.

808 o H82Do0s

A. Ola H8O B 13818 TR 8dsd
T TTATNE ST o TaTo LA TS Lo T T P
SoBdssry TS SrfSsTen

a of
jon of such

|DE¥&8008.

B. @yt 585 Hstrde AP
O a8 T, e@dd 8ufad
dain el AT SN 25
Joss oS 73 B S
OIS,

OTS BT 2D JonE Tobhod

A1) AJIMSDH HOTSE
(2) B Srehad HOTSS
(3) AOCin B Dodr abae)
(4) ABain B Bodr HOTAD 5%

Serles-A



20; Examine the following statements related
to Pradhan Mantri Suraksha Bima Yojana
(PMSBY) :

A. The risk coverage of the scheme for
Wdaammfulldamiliryls T2

B. For partial disability It is T 1 lakh,

C. The person under age group of 18-70
years can avail the bensfit of this

schema.
Choose the correct answer :
(1) A BandC (2) A only
(3) AandBonly . (4) BandC only

(D67 sbold MBS DSr Tras Hood

$08 2SI 5088 o H02Do0SoA

A RSrR8 hSony Tor Iwedo
S5050 wond o doE, 8D
DB Doch f © Sraraben.

B. L% Jfeo wond 2.8 ef
araraen.

C. 18-70 Sosé 80 Scbiny Sodhgie
Sgen & D)0 30 o Fotherth
ey

QO B2 JoDE Tohod
(1) ABSBcsC

(2) ASresd
(3 A 558050 B Sriessh

(4) B8k C Smed

32. Match the following :

List=| List-1i
A. Nadwat-ul-ulema 1. Bombay
B. Mohammedan 2. Deoband

Educational Conference
C. Darul-uloom 3. "Aligarh
D. Rahanumai O Lucknow

Mazdayasan Sab
S08 el a:é:ﬁcﬁ::&i)

Do -1 o D -l
A, S Q 1. erod
B. & @ 2. BS208

J%ﬁ SEVI -

o3 SOrS 3. sdns
D. ra2e0 0% 4, ofy

Q&Jﬁa‘iﬁb& 2
b oose the correct pairs/answer :

A0/ BdOD/BTEDD  JODE

31. Match the following : i Schod
List -1 List- 1l
A. 7" Schedule 1. Land reform (1) A-4, B-2, C-1, D-3
reservations
S B I S [ o v e or o
: ule : jon : : .
D. 10" Schedule 4. Pancha l%ﬂm (3) A-3, B-4, C-1, D-2
5. Dfﬂclﬂ%maa [(4) A2, B-4, C-3, D1
808 8D 28HES50A
A T:,f‘;;ﬁ' 1. %m:: 33. The most terrible famine, otherwise
%Hg A8 known as ‘pedda karuvu' or ‘dhata
B. 85 S 1 D s karuwu', since the starting of the British
C. 05 =5 chaeed ﬁg’:’ﬂ ﬂﬁ;.'a;‘ﬁr rule in India, took place in the year :
i s
D. 103 Dikr L E® Socraniont G Y, BE S 80y Do,
& sl fefy yroadiod | DD TORTE00 Dok
) Choose paimﬁ ;rhm o8 $Ahols gHomr Hrodod D
DO /Bae0ed JoDE Fohod : Dod& 808" HoDodos ?
1) A-3, , C-1, D-4
EE% A-5, B-3, C-1, D-2 (1) 1770 () 1790
- S ¥ ﬂ I
E; :—g. :—g.'ci gg -(3) 1868-69 (4) 187678

40118 13

Series-A
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34. Match the following :
List -1 List -1l
A. Members of the legislatures 1. 1935 Act
empowered 1o discuss
about budget and question
on administrative matiers.
B. Formation of communal 2. 1882
electorates Councils Act
C. Duel govemment in 3. 1919 Act
provinces
D. Federal government 4. 1909 Act
800 3R BSHOWOD :
e - wader -l
A TS DPO 2FORD 1. 1935 QO
580005 :
SHhTroToTe
B3 08 edsdo
2520806,
B, Sa583s datraiSTe 2. 1892 TNE
DO N NI ATe]
C. oS SsodsHsheso 3, 1919 0RO
D. Daraglaghedo 4. 1909 &0
Choose the corect pairs/fanswar :
ST 2BSOR/2BT20N A0S Sabod;
. (1) A-4, B-3, C-2, D1
“tﬂj '&‘-.L 3'4. C-E, D-2

3) A-3, B-2, C-4, D1
(4) A-2, B-4, C-3, D-1
35. Match the following :

List -1
Kesari

L
1. Gadich
Harisa
Vivekavardhini 2, Sisi

Swarajya Patrika 3.
Amrut r 4.

u
Patrika alingam

2nd M0 2D
arder - | %r -
B0 1.

o
P BT S0 T
2% Bodrl R
3, a0l
4. Zothos5rd
Hdidotio
@ correct pairs/answer :
23635y BT 20D DODE ToHod:
(1) A-4, B-2, c-1, D3
2) A-1, B-3, C-2, D4
3) A-3, B-4, C-1, D2
(4) A-2, B-1, C-3, D-4

40118

Ghosh

pow >

HESQD
dorag e
©ed)g)ed
H| B8
Ch

oow

14

38, Examine the following statements :

A, A.O. Hume was responsible for the
successful holding for the first
session of the Indian National
Congress (INC) in 1885.

It wae decided to establish the

Congress as a safety for the

expression of peop discontent,

sufferings and view
Choosa the correct answer .

(1) Both A and B are

(2) Both A and B are

(3) Only A is correct.

(4) Only B is correct.”

208 DS 820008

A. 1885 20D SO(1R DG
f MoV el Tolny

S0 2. UG S0P§
B &o

DB LoFOTTER.

©H0oSN, O, TV

Sed 048 Sotomr ros

cHh  soliPd FOTONE
DGonoIGTo0.

Qgg@é 320 Johs Fabobd

(1) A Sddhn B Soar SO

(2) ASHB0% B Body SBTAD S
(3) A SFD SO

(4) B ITISH HOPIS

Examine the following statements :

A. The non-cooperation movement
brought all sections of Indians into
the freedom struggle.

B. Violent incident took place at Chauri-
Chaura.

Choose the corract answer .

(1) Only A is correct.

(2) Only B is correct.

(3) Both A and B are correct.

(4) Both A and B-are incorrect.

208 DS6@ed HO6FDoL0s :

LA BAed DoEssthi0 rdstiEo

S'D ®D) ST (HBO W ol
DS 8 30509008,

B. JTA-Jos rovrd)s
SenThosod.

HOTS BT JODE TALOG !

(1) A ST H6SS

(2) BSresad SO0

(3) A SB0kn B Bodsr HOTSD
(4) A Bk B Bodr HOZD T

Serles-A

FATATY



Examine the following statements :

A. Scientist-philosopher-scholar,

Dr. Aghomath Chattopadhyaya was
considered as the father of the fight
for freedom in the Nizam’s dominions.

B. Introduction of English education, and
he becoming the founder principal of
Hyderabad Coliege (renamed as Nizam
College) provided the right atmosphere
for starting his social reforms and fight
for freedom against the British.

Choose the correct answer :

(1) Both A and B are corract.

}2} Both A and B are incorrect.

Only A is correct.

(4) Dnty B is correct.

500 AS0ROD H6FDoB0A

A b, S8 HoBSHES
an 0T S reriah dero
DS ozgos’ Fidos: Sow
&IV HOKSoSadTER.

B. aofl DO; (oo, abhd
TEoTS Sere (S50 dzro
o D Srdndod) (HES
DTTTOh S8,  SoHaS
DOES osnE HodyBmen, | DD
S53B8 A gedo|esg mag B
TEIEED) EDyoran,

O B2 ;Johﬂ dohod: «

(1) A 8050 B Bodr S8

(2) AOacin B Bodr N

(3) ASMSD HOTIS

(4) B ATt HOTAIS

Arrange the under-menti ts in
the ascending order, basin r year
of happening or starting :
A. Communal Award
B. Meerut Conspl
C. Valkom Satyag
D. Guruvayur agr
808 NS
ESos’

6 the mrrm order/answer :

ROTDA S8R /23572000 JoDE Tahod :

(1) A, G, B,D
(3) D,B,A,C

«(2) BA,C,D
(4) C,B,D,A

40118

40. Examine the following statemants :

A. Drain theory has been found to be the
root cause for the economic
Impoverishment of India under the
British rule.

B. The export of Indiarvkaw materials to

England and mn of British
manufactu into  India,

besides se y the savings of

English in India to England, have
all ma% the drain of Indian

ly B is correct.
Both A and B ara correct.

'Oﬂl] Both A and B are incorrect.

08 D380 H8ZDotod

A DS TosS B33 w5 HseeDE
DoDS &8dody dgrodo Jre
SO0 raotidieod,

B. 2rds85 SuASTTos 0TS
aJDalred Dahdso, DS’
SErBS  SHJoH  w0dTE
OHhDH8 Tobdo, résdiods'd
wolardsdhHe DY ITodH
ROTOBE HONBO, VSN 2FESTH
DoDE S$ED0H% orBaTow.

OV 220D J0DE Tahoh :
(1) AdPSD HODSS
(2) B S DOTSS
-(3) A SB8atw B Bodyr HOTHH
(4) AHOCSn B Bodr HOTSD %9

Series-A



41. Examine the following statements :

A. The formation of Andhra -Jana
Kendra Sangham in 1821 and it
developing into Andhra Maha Sabha
in 1930 laid firm foundations for
popular awakening in the Nizam’s
Dominions.

B. The conducting of the operation and
deliberations in Telugu, the mother
tongue of B80% of the people in
Telangana and similarly in Marathi
and Kannada in Marathwada
provided the right and effective
channel for arousing public opinion.

Choose the correct answer :

(1) Both A and B are incomrect.

(2) Both A and B are correct

(3) Only A is cormect.

(4) Only B is correct.

206 DSGed H03D0t0s :

A 19215 wo|d 23 So Hod
DS, o8 1930S" 8o ST
oS0 Toso, dzro oafd
e PaSgo, -rifys
W BE ySorow.

B. @oomrs Dhaed' 80 r@cﬂ

) JODE T :
o5 B DOGT HOTWASD S2)
(2) ABain B Bodkr HOTHSD
(3) A STeh SOTDAS
(4) B & HOPAS

40118
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42, Examina the following pairs :

"Author Book Title
A. William Hunter : Indian Musalmans
B. Raja Rammohan : Gift to Monotheists
Roy (in Persian)
C. A.L. Basham India Gandhi
D. Ramachandra that
Guha

Choosa tha Incorract

(1) Cand D only Bunh.r
(3) A,BandD unt@ C and D only
g2od B 268D
Sdond * |ffodo
A. OO Q— 20800
T INWETD G TNV
B. % A &
S SrSHony
(HODHS erndh
C @ a0 - =odckr epb
mod
S0l — S Sodb &S
ey a2 20l0r

HOTHAD =0 a0 Job¥ Jawod :
(1) € $8ckw D Srssh
(2) A S0k B SM&dH
.(3) A, B 58050 D Sm&H
(4) B, C 560t D Sm&d

43. Match the following :
List -1 List—1i
A. Obaidulla 1. France
B. Barkatulla 2. Geneva
C. Madam Cama 3. Germany .
.D. Lala Hardayal 4. Afghanistan
808 T BSDBS0A :
Do -1 Do -l
A. 2B 1. BrS)
B. af)sher 2. 2
C. Sro i 3. E.{jxh
D. erer 3BOATrE 4. ©OQVY®
Choose the correct pairs/answer :
HOTDA BSOD/ /2T HODE Tohod :

(1) A-3, B-1, C-2, D4
(2) A-1, B-2, C-3, D4
,ﬁr’hz B-4, C-3, D-1
X4) A-4, B-3, C-1, D-2

Series-A



44, Examine the following statements about the

"All India Women's Conference (AIWC) :

A. It was born In January, 1927 in
Poona.

B. t was founded by Mrs. AL.
Huidekoper, who was teaching in
Bethune College, Calcutta,

C. It was meant for the promotion of
women's education.

D. ‘Lady Irvin College’, a women's
college for home science,

educational research and training for
teachers was set up in Delhl in 1932

by the organisation.
Choose the correct answer :

(1) A,BandConly (2) Band D only
(3) A, CandDonly (4) CandD only

oo rdd Lire HSrdfo (AIWO)
MOoD) 808 @HLBN T IWEOD
50700%0A :

A. & 5508 s 2358 19278
a0 )00, ‘

B. $o¥zsD B3 sS4 {HQ
College)S Jroren TD) 0.0

TUIBEHS A Thoor

C. are dordsy08 ~8
2O Sy Tyod. (a

D. 193265 Mafrder Fd0 S DS
oy HOFBS BLFH%0
782 00 2D5S o8E T
Serer s How 1932685
A0S’ 2od.

OTed DO00E Tahod :

(1) :ﬁ:&: C Srssdh
(2) D Sredsdh

(3) A, C0Baln D SMesd
(4) C daiw D Srsh

17

@. Examine the following statements :

A. Almost all the jute mills in India were
concentrated near Calcutta,

B. Indigo factories were lished by
the British governm

C. The government r factory was
established in anpur.

D. The iron and industry was

ustahlis@hﬂ 907 at Sakshi.
Choose 1@@:1 answer :

(1) %ﬂ{'\dcmw (2) CandD only

{Efbam Donly (4) A,CandD only

naﬂmuﬁn H83D0%0s

0’ FoaBiods oD e TP

aeNe) Sersm

Havdos
E{oal- AT F AR Tola Trte] '

B. do0o Hoth oyroed Den
120206 50 @S FTHodod.

C. 18608° sar)ds” (HEds 6;
Sommrdo yraodandod.

D. 1907¢° @0aw-arsoy
28y rhosadod.

HOFTS 2T 20D DodE Tabod

HOWFED

A1) A, B nddiw C e

(2) C 000N D SMSH
(3) A, BS8A D Sred

(4) A Cdain D Sresh
Series-A



Examine the following statements :

A. The tribal leader who revoited against
the Nizam state was Bhimji Gond.

B. ‘Jal —Jungle ~ Jameen' was the slogan
given by Kumuram Bheem.

C. Gonds revolted under the lsadership of
Bhimji Gond at Utnoor In Adilabad district.

Cheoosge the incorrect statement(s) :

(1) AandConly (2) AandB only

(3) C only (4) A, BandConly

808 Dd2ed H83O 00l :

A. V0 Targns Siebior adotbartn
TS MBS rabdoch DSz fos.

B. ‘af-2008-2300 ©0 QTR
S8 DB BT,

C. ®derald 2050 aamb
Frosos’ DBt Mod arabis sods'

Flodihen asdhiberen T,

HOTDAS T DIBOND DoDE TaHod:

(1) AS8d5n C Srehad
(2) A 85w B Sread
(3) C&rigsad

+(4) A B0cinC

47.

40118

Examine the following statermemts :

A. 'Indian Association’ was established in
Benaras. &

B. The '‘Dacca Anushilan Samithi' was
started in the year 2009.

C. The East India Association’

founded by Dadabhal Naoroji.
D. The Treaty of Salbal' was @
Choose the correct answer :
(1) AandBonly (2) Ban
(3) CandDonly (4) A only

808 D3Ted H8200
A. Torshd ‘a0d HEhAS

(1) A0 B Sredsh
(2) B OO C Srebd
(3) COcin D SMéad
(4) A CHBC50 D Sressh

18

bo.@fm‘-n Tod.

@8 Examine the following statements :

A. The Mulki League advocated Deccan
nationalism.

B. Mulki League favoured Hindustani as
a common language of bad

C. Mulki League
communalism w
British to divert Haaaadia.

D. Mulki Leag voured Hyderabad's
merger wit jan union.

Choose the @c\ statement/s :

(1) A hly (2) CandD only
(3) (4) A,BandC only
20 HOIO0B0A

y OF &85 erddh o)

B. rdoard, acddire o yram

FOSTTON S0y, OF
&5)OA0N00H.

C. THowhHUD &3y )5S
s@oFoH D8 o%
HASE LN  HYNOTED  Ady
OF 2r2odod.

D. 2OAAHNS CHINARIS’ FOTrs
adaD) Jndy HE L80a.

HOTDAD 5N AD(OL)D  J0E

Fahod

(1) ASBcin B Sresd
A2) € 0w D Srighad
) Dared

(4) A, B HOC0 C S

Serfes-A



48. Who amon

the following were the
employees of the rnment of Nizam 7
A. Madapati Hanumantha Rao
B. Srirangam Srinivas Rao
C. Rayaprolu Subba Rao
D. Dasarathi Krishnamachari
Choose the correct answer : :
1) A, B and C only 2; B, C and D only
3) AandD only 4) A B,CandD

N0 (Do s alyhenr S0d 8
e ey o ?

A Srd>e 080w

B. oMo ZATNoY

C. Tdhiffen Maryory

D. 05 Syasrordy

DTS 2arendd oS Tdbod :
(1) A, B 0805w C Sr(edsh

(2) B, C SnbBain D Aressh

(3) A B D Armeah

(4) AB,C8dnD

Poor peasants in the backward talugs of
Kinwat, Boath and Sirpur in Adilabad
district, Huzurabad in Karimnagar distriét
and Boorgampahad in Warangal district

were forced during 194648, to resort to

the Killing of six Hevenue Inspectors and .

tn]unn:?ll or manhandling of one Second

Talugdar and six Revenue Inspectors,

because of : _ ®

m War fund collections

2) Forcible, unjust and wu
collection of levy grain

{Hi Higher rates of land tax

4) Frequent and easy eviction of

1946-48  DosSyooes '

TarsSS 85565, 58 et
$00:116

wderard Eﬂg’ﬁ‘; sTVEF iF.:-
20 ar§onss S6ofd AS Hes
Deben et B A )50

WoWoHH 28 EoS =mars s,
sOHHS TISr; BIVHEESH HSE

rodsy DO AR T
2OOHPS 6 82
(1) Cing Y.

(¥ B ()] 25080,
> Do Saren
3

(3) ) B8 23y,
A Toordd Frane Hod Som,
OO Sefiodido.

40118
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51.

52

Placa the following rulers of Magadha in
their chronological order of rule :

A. Bindusara

B. Bimbisara
a0 o

C. Asoka
D. Ajatasatru
EXoos

DN VDS 808 B|E
SeT) 800
@808

A, Dotdoar b
B. Lod
C. of

JODS

(4) D,C, E; A

“Sahitya Academy Yuva Puraskar® for the
year 2017 was awarded to Mercy
Margaret for her poetry in

(1) Konkani
(2) Tamil
(3) English
(4) Telugu
2017 OIS YTRE > “Wrarey
®5G A HOTE" D ToOS
D) SrgodS 2 radS 6Do0DS &S
5dE 08 oty 7
(1) Sosd |
(2) S0V
(3) =0f0
(4) Senid
Serfes-A



53.

P. Venkatnarayana, an advocate from
Visakhapatnam, raised a petition in High
Court to stop 'Sakala Janula Samme'.
Whom he made respondents 7

A. K. Chandrashekhar Rac

§5. Arrange the following in a chronological

order :

A. Elght point formula

B. EI.IIFII"BITIE court judgement on muikl
rules.

E;, l;iﬂnfifaigﬂm Ef ggmi Lﬁmﬂiﬂh o WI’iﬂn 32 amendment to Article
oose the cofrect answer : D. Six point formula.

O A B C ony (3) G, DandE only So6 T SIS0 ob:
Irpatnok TS D Josy A, QWO AT

ochHn @ edStn ‘Do Bdhe B. Swdy &rd g 85)
Sy e>od PSS 28 8LS C. @i 371-A% 3285 orer ol DG
Fech. woHS  edhd 280D D. & Jr@re HH¥0

DB TO* ) ? 50T 1580 e o Bahod
A. 5. So|ipd oy B.§G0G O (1) A G/B,Bs (2 A B,D,C

C. 2HBHD of 00 D.Fs T (3) D, A,C, B (4) B,C,AD

E. RO MG 56. Mdgh the following ’
H8THS B Jodbf Faboh: n Organisation

L(1) A, B58ai D Srehsd
(2) C 0o E Srdah
3) A, B 08asn C Sriessh
(4) C, D Bc5m E Sr(ead

84. Examine the following statements !

orwala 1. Telangana
Regicnal

Committea

B. ‘Sunderial 2. State Re-

organisation
Commission
0'3, K.M. Panikkar 3. Committee for

Administrative

A. Colonel Tod, in his Annals of \ and Re-
Rajasthan, has stated that the Raip organisation of
were foreigners to India. Hyderabad
B. ‘Prithvira] Raso' was ¢o Economy
C.V. Vaidya. D. J. Chokka Rao 4. Excess of military
C. Mihira Bhoja belongedto th in Hyderabad
D. Motammed Ghors not 808 AV 2a88B0B:
resisted by Vidyadhara, a S88 doP
Eh;ﬁrﬁﬂ'm correct an A, I'Jd-. ffﬁﬂ‘t:" 1., SOHOMTR
Eli A and Ednﬂlgnw F only [Frosash HoNO
1 H'n &,
808 DSB@ON HO2 A B. ModerO . -2 ?‘gi éi’ 'mi 45
A Zeond b’ B35) o 59
&8 (o oSO C. Bo0.a2e3506 & G ;.‘:E
MTatle P DT, (Y- PRI LS
B: PP ©F o) M. ol 6 ufZBLS
D05§ Griowyc. s OoWws
C. :'!:, Biarcd DSBS S0TRE SO
5 ‘ Sl B Sole D. 250w 4 I8V e owd
3B HBOBBD. c h s/ o -ﬁ:'ﬂwm
5 27208 dohE Fabhod 10080 tha Conecs Pane/ NI -

Wmm SonE Tabhod:
(1) A-1, B-2, C-3, D-4
«(2) A-4, B-3, C-2, D-1
(3) A-3, B-4, C-2, D1
(4) A4, B-1, C-2, D-3

(1) A SBckn B Sresh
«(2) A8cinC I
(3) B, C 58050 D Sread
(4) D SSD
40118 20

Serfes-A



57. Chronologically arrange the following

protesis organised by Telangana Joint
Action Committes :
A. Walk for Telangana

+ B, Palle palle pattala palki
C. Sagara haram
D. Sakala Janula Samme begins

B0 2o 085 airE S s0ed (¢f 28
850505 2608 808 Adsires
SEDEosS 88 0D

To discuss the recommendations of
Srikrishna Committee, the all party
meeting was convened by the Union
Home Minister. Which political parties

boycotted the meeting ? @

(1) BJP.and TRS

A, 'S H8 Swors
B. '8 IV JH¢re ¥
C. '™riid 60

D.

‘DEe 23300 HFy) Ar8oBo
Choose the correct order/answer :
QAT E0oMy/27208 JohE Fabhod :

(2) BJP, TDP and THO

(3} BJP, TDP, TRS and AIMIM
(4) BJP,TRS,
oy §

P, .@MIM, CPl and CPI (M)
HFPD  ediahdo

(1) A,B.C,D (2) AB,D,C ﬂa&ﬁa‘aQL WroN0E oo
+(3) B,A.C.D (4) C.B,D,A S efu\ ohads  edyarde
58.  Match the following : mmm 207230008 rfen A 7
Event Date 4
A. Annabathula 1. 10~01-1969 A1) 2. SO &.esB.0%.
Ravindranath fast unto '
St ot Khiar oo 25, 845, 2005 Seb %
B. Potu Krishnamurthy 2. 08-01-1969 -
8 Palvancha : o). 80.000.82.000.
. Telangana convention 3. 25-03-1969
at nagd,, Hostel, (4) HBD, &8sl 0%, B8.40,
Hyderabad .
D Fondeann " & I@ :‘J.m.m.m.ﬂm VDD SHOAW
Te na Praja ~.e.8(0.)
Samithi \Q
S06 zﬁiiiﬂﬂ‘ma : 60. Who translated the famous poet Guljar's
A 53135' ' 9 “Green Poems" into Telugu ?
géﬁlahéﬁ_t)g (1) Varala Anand
oS~ @V
E;’.\Jém DO : (b (2) Mangari Rajender
B. f?—iﬂﬁﬁ' . 8-1-1969 (3) Shikhamani
;ME; Noe i & (4) Challapalli Swaroopa Rani
2 %%5;@2‘?5 X 3. 25-3-1080 (2grged £ DS ED0DS 1AS ST
BoOMen S L BHSE 8 HDIB0DIE 58 ?
= _ﬁ:_" 8 4. 831969 (1) oove B0
Choosg the Correct pairs/answer : (2) o oHoss
AT BWeQy/2saT e SoDE Tahod
#(1) A2, B1, C4, D-3 3) S
(2) A3, B4, C1, D2
3) 41, B-2, C-3, D-4 (4) S Hs87ar oodd
A'z- E"'Tl ﬂ'ﬂ. D"‘4
40118 21 Series-A

i



61. Examine the following statements :

A. The Buddhist literature describes
lkshwakas as descendants of S
Rama.

B. The temple with perini dance

postures is Ramappa.
C. The ‘Thousand Pillar temple

Inscription describes the military
achievements of Rudra Deva.
Choose the correct answer ; -

(1) A,BandC  (2) AandBonly

(3) BandConly (4) AandC only

808 DI3SeS 36000 :

A, T Hogren AFsHod JoNnd
MOS8 ®Q JSdotIraw.

B. WO gy  Polhen Ho
Bareooho G'm:':g.

C. OOEHA Doed dadird) How
Jozre’ Hd TS0 BOCHEN0H.

DT BT DODS TADOH

o(1) A, B S8 C ;

(2) A SO0 B S

(3) B SHBcin C Sredsd

(4) A0 C SMeddd

62. Match the following :

83. Which of the following Rashtrakuta Ruler
was treated as renowned great emperor
by Suleiman, an Arab Traveller 7

(1) Danti Durga (2) Krishna-l

(3) Govinda-lll (4) Amogavarsha
806 o085 Tre BN el
Horgsed Bé &8 ) ST doam
88048 o Rsrd 0 25 ?
(1) Sod &§ --

(3) FRos-3
84,

19y Foser 3¢5 Bab)

rg President
1. Achuta
Prajasanghatana b

) 338 0ahb) acddr
Name the zamindar who has accepted the

Organisation mm.ﬂma Ganna Reddy' by
A. Bhavasamaikyatha (1) Na :é':l Venkata Ranga Rao Bahadur
- em
B. Telangana Praja 2. Smt M (2) Ammﬁtli Janaki Rama Rao - -
Samithi b Palvancha Zamindar
C. Republican Party 3. T (3) %ﬂ:::;:pg tﬂﬂddv Pratap Reddy -
D. Telangana Udyama 4. b ks (4) Surya Rao Ehoc?aﬂ'ui-ﬁadwal.
Samanvaya Sangham %’ 84 Do md TS i) 0@ Sdo
208 8D 2dH850A ; 0880 AFS) 20000 D58 ?
Hod Sgoen (1) oL Jokd dororsy 23070 -
A. 2T HPEsS 1D Soges B SARr3o
50BN E@ 2) o6FHO & oEroD
B. SBworw @y L2 iﬁoi e S0
) & g02raw .(3) =) B OEd BY - royas
G. 3. &3.500m Arare “ o> . e ees
D. 4, TRPSOS A () AP T it Tirs
66. Narayana Swamy Venkata Yogi hails
Choose pairs/answer Eﬂ-}m fﬁpat He is mﬂa i
balelons 2AON/BTN - 08
Sohol 53} iTaIugu;netg (4) Numral;gy
(1) A-1, B-2, C-3, D4 28565 TodS Trorabe: g Jokd
‘(2) A-4, B-3, C-2, D-1 SBrh & 800 Somrs TodS T
(3) A-1, B-3, C-2, D-4 (1) (2) 2o 85%
(4) A-4, B-2, C-1, D-3 (3) Benth EDS50 (4) Dogry TR0

40118

Series-A



67.  Match the following :

Telangana Meaning
Dlalects
A. lgam 1. Metal rim used in
pounding grains
B. Tapuku 2. Strong stick
C. Kundena 3. Metal plate
D. Gutpa 4. Cold/cool
800 T3 2AHGB0A
doomrs T3 T en
Srodd¥
2TreD
A afo 1. §P350 oty )t
Sl addiriod
Sy HO560 .
B. SH% 2 53
C. %0885 8. S hew @
D. ey 4.

Choose the correct mlmﬁa@ :

- OIS BN, DO2E Tahod

A1) A-4, B-1,

(2) A-2, B-3 D-1
(3) A-1, 2, D4

(4) A-4, B-3, C-1, D-2

70,

S;

Who Is the author of ‘Out of Coverage
Area”, a collection of short storias ?

(1) Pulugu Srinivas

(2) Pasunumnu Ravinder

(3) Kasula Pratapa Reddy

(4) K.V. Narender

TS &) §50F8 B S )
) BenSdord 7

(1) JentH DD (2) 8Hoss

(3) SR 1HEHBG( Boss
Name the Sufi saint Qava name to

Abul Hassan Tangesha.+

(1) Shirajuddin ) Moinuddin Chisty
(3) Shah Raju@artal(4) Ahmed Patel
‘®ad en 5 & DD DY
AP

(2) TnoorHdS D%
TS (4) oimb HhS

the correct statement of
na Committee’'s observation on

u media was ;
The equity holders of the channels

except one or two the entire print
media are with Seemandhra people.

(2) Telugu mediais generally objective in
reporting on Telangana.

(3) Telugu media ownership and
editorial  personnel are  from
Telangana. _

(4) Telugu media ownership and
editorial personnel are from Andhra.

Benih DAATD W 5ed H0%0S

808 o&3S" B BOWEHOA 7

(1) a5 Doth od¥es” areren oot
$3) DS TEH@Een Hsros
Dz ST ey owm.

(2) Boomrs Hdod BHyEoS Benih
(DO Sr@gsren  darysgor

= eV

(3) Senih |erS PG
OIradrdio SO0 20%en
O RIS OO .

(4) SBenih RS Srdgsre
diradrdgo 8o 90%ew
ORI 8O .

Series-A



71. Match the following :

Book Author
A. Gatha | 1. Gunadyudu
Sapthasathi
B. Panditharadhya 2. Haludu
Charitra
C. Bruhath Katha 3. Samala
Sadasiva
D. Yadi 4. Palkuriki
‘Somanathudu
5. Palkuriki
Srinathudu
808 D BEBES0A 1
R0 Scsomwned
A SO 1. Derdoyth
B. Hofdmordy 2. srendh
561 *\
C.0sr885 3. S0 mﬁQ

D. dird 4, e 8 @

(3) A-4, B-3, C-1, D-2

(4) A-5, B-1, C-2, D-3
40118

72. Examine the following statements :
A. The Government of Telangana

decided to launch 100% Input
Subsidy Scheme for Backward
Castes. ,

B. The governmentp i
support of upto T 2

C. It Is meant for @ people of

around 70 < BCs towards
investment :Ea

D. iths, Goldsmiths,
Fnttarrs s, petty traders from
be benefitted by the
correct answer :
B only (2) CandD only

Q; andDonly (4) A, BandD only

D3deaerk HBDoS0A -

Qﬁh BeniaBas Soereofy 100 TS0
Tl B JHOTA
Eréodomrod Swore (Db o
RAQONODOE.

B. (52hedso Do &r 2 ofe H65
PG DY ®odHN0H.

C. Bo¥eds SShdos” Ldrd 70
Sered BHmio fo (Do
A A VAT So@eoso 2B
arotiudod.

D. SHohd, %5020, Sord, Hodnd,
Zerd ((ned), D) agardapen &
2HE0 oo erdio Srotuard.

HOTS BT 20K oD Fo%hod :

(1) A 805w B Srehadh

_A2) C oo D S ed

(3) A B D Srehad

_ 8 A B 300 D S




73,
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Examine the following pairs related to
Telangana state :

A. T-HART : Telangana Horticultural
and Agricultural . Research and
Training

B. T-ASSIST : Training Accelerated SSI'

Skills

C. T-ASSIST : Telangana Advanced
Solid State lllumination Systems and
Technologies

D. RICH : Research and Innovation
Circle of Hyderabad

Choose the correct pairs/answer :

(1) A,BandDonly (2) A, CandD only

(3) AandConly (4) BandD only

S0 o8 Ho20doDS 208

sded H0%Dos50d

A B-2rSdesBe (T-HART) : Beors
‘S DodEo, SiHUrdh HOFTBS

SH8osn FE €.

B. &-&R% (T-ASSIST)
Slol VIS

C. B-©29 (T-ASSIST)
el e 08
Eﬂ?gﬂ:#ﬂeﬁ
By odn.

(3) ABa C Sressh
(4) B OCin D &Sredadd

SR AT To 24
SRETIO D)
Stdoso Fahero.
. 35@.
ALV &

74,

Examine the following statements about

‘Mission Kakatiya' :

A. It is a tank
rejuvenation
Telangana state.

restoration and
programma in

B. It was inaugurated on 12" h,
° 2015 by the Chi ister of
Telangana in Sad ar.

C. The Telangana
restoring 46,

nt aims at
nks in 5 years.

D. It was as ‘Mana Vooru-

(1) A D
3) Ba

(2) A,CandD only

Conly (4) AandD only

SE8ah MB0D 208 BSIDAS

b,m;um 58500508 -
. 2 Beorn oo IHHo

DSBS D60,

B. Qmr3SS088° S8y 12, 2015 Ay
Soor O Supiho
oo,

C. & JDHEo 300 46,531 Dok
5 doddyood DS
TATOR ©OF $0rT DEPS0H.

D. &M S @S - DS BDYH ©
50 enird.

QOIS B2 DODE Tohod

(1) A,B,C %85 D

(2) A, C 00w D Aredsh
(3) B H8cin C Sredsd

(4) A S80hn D Arebsd
Series-A



75. Match the following :

Program / Pollcy Launch/
Implementation
A. TS-IPASS 1. 1% January, 2015
B. SHE Team 2. 2™ October, 2014

C. Arogya Lakshmi 3. 12" June, 2014
D. Haritha Haram 4. 2™ June, 2015
E. Shaadi Mubarak 5. 1% April, 2015

6. 37 July, 2015

800 8D 2856304 :
SdSo/rob BSIFDYS /
®HBHDS &
A. TS-iPASS 1. 230038 1, 2015
B. heo 2. oFob z‘mg)
C. ufigel; 3. ar-.ﬁ 1
. Q.
E. 3rd Snerds 5(% 2015
B 3,2015
Choose the pairs/answer :
0TS QoD% Tahod :
(1) A , C-2, D-6, E-3
2 5, C-1, D-6, E-2

(3) A4, B-3, C-1, D-5, E-2

(4) A-2, B-5, C-3, D-6, E-1

40118 _ 26

78. Examine the following statements about

the Telangana Grama Jyothi Scheme ;

A. The scheme was launched on August
15, 2015.

B. Itisallaboute

C: The Chief Min

launched
village in d district.

D. Incl and holistic development of
villa through people’s

In  planning and

& @ decision making is one of

x‘}tmajur sallent features of the

ramme.
(@aa the correct answer :
0] AandConly (2) A, BandConly
(3) B,CandDonly (4) A, BandD only

Boors M A Ho HH8od s
QI 50808 T ipiocd H02OaS0A .

A @fp 15 2015 o & S0
oo,

B. & 8O (Trire  osEss
02050008,
C. Adrard 2 I8 mdods

Svore  olf  Sopihod
FrSodoirh.

D. (Der¥s S093 DO ArSarars
Maired’ (dze oS
DVS HOA HoFIdRd rm
odSy@ TJohdo & &no T
S0P AFToS" 2,563,

JOTS B 20D JoDE Fahod
(1) ASBain C S
(2) A, B8 C Sredzh
(3) B, C 0% D Aressh
-(4) A B MO D Sressh

g villages.

elangana state
mme at Mothe



77. Examine the following statements about
the 'buffalo distribution scheme’ :

A. The scheme ‘distribution of buffalces
to dairy farmers’ was approved by the
Telangana government for the
implementation during 2018-19.

B. All the beneficiaries will get 50 per
cent subsidy on the unit cost.

C. The scheme benefits around 2 lakh
families.

D. The unit cost per each buffalo should
not exceed ¥ 60,000 excluding a

transportation cost of ¥ 5,000.
Choose the correct answer !
(1) AandConly (2) BandD only
(3) A,BandDonly (4) B, C and‘D only

(e Hodd bhyo HBoD 8od Bd B
TS HOID0s0s :

A. & 20 ' Dhod 2B Hod
SO0 |H2heé 0 u:r:.‘.‘:.sz-
2018-1965° ascd e Tk .

B. ®0&& ﬂam.-_m\%ﬁ
PENDS 50 E‘% AR

RS DADR0, o 1
C. edrd Bodl oL &

QpSo ot & =,
D. Sarer i )E. 5000 sSooar 2.5

21D &) & 60,000 50
DO ]

;aﬂa&:m J0DE Fohod :
(1) C Aread
&ﬁaﬁu D S

.(3) A, B8ain D Aredadh
(4) B, C 80w D Sresd
40118

78. Examine the following statements about
the programme of Telangana govemnment
to distribute sheep on subsidy to the
sheep-rearing familles in the state :

A. The programme unched on 2™
June, 2017.

B. The scheme w
Kondapaka

Inaugurated in
Siddipet district,

C. Thasc naugurated by the
Chief Mini the state.

D. The helpline number for
aid for sheep in the state is

&
incorrect statements :

ndConly (2) BandD only
%Aandﬂurﬂy (4) B, CandD only

01:{5 QSDAS Ty  BOOMD
DZ0S 0 (DIFDGPS JIDYAD TP
2od Hevorred MBo Hodds
ISTolalelalel ATVHE

A 278 2, 2017 o & o
arSodoord.

B. & J350) Fosars (Mo, N
AersS Brdodord.

C. & odH o Sopihols
> Sodoird.

D. MBo%H 5020800 e&HHERS
JDdoH &S D S 8BS
Soab 2017.

HOGTHAD TN TRiod o
Dahoh

(1) A o8ain C S
(2) B 8% D Sredad
(3) A DOCID D Se3D
(4) B,C J8ck D Sradd

Series-A



79,
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Examine the following statements about

Geographical Indication (Gl) tags :

A. Geogrédphical Indications of Goods
Registration and Protection Act was
anacted in 2004.

B. Darjeeling tea became the first Gi
tagged product in India in 2004-05

C. G.l. tags were awarded to Adilabad
dokra in 2016-17 from Telangana.

D. Adilabad dokra Is an ancient bell
metal craft practised by Woj
community called Wojaries and
Otaris.

Choose the incorrect statements :

(1) BandConly (2) AandC only

(8) A,CandD only (4) Bﬂlﬂﬂnﬂﬂl}'

TAVE 0¥ erf HBod 80

R JDAS T WO HOFDoS0H -

A, T8 DS SO S3rc
Ocin S8 ko 2
SN0 2800.

B. 2004-05¢5 gr&afioss
JTTE arDE  erh
S S, \%

C. FMWVE JrdE &rB reaeS'
wderzrd & %ms-wﬁ'
2o &,

D. &s&erard
o0
S8R o

2.8 DS
&d 159
&80 sl S5

855 \Dodsewsos  ow
&35 . ;
TIDIOD JoDE Tahod ;

(1) C Srezh

Y{&mﬂcﬁn C arsad
C S8cy D Smsh

(4) B S8cin D Srmasdh

80. Examine the following statements about

81.

‘Telangana Rural
ijﬂct' (TRIGP) :
It is also called as ‘Telangana Palle
Pragathi Project’,
B. The targetted bene

Inciusive Growth

| H:IEI".FEE are small

and marginal f and SC/ST
households,

C. The : limination of Rural
Poverty (SEF %), Telangana is the
implementing,agency of the project,

D. The Warld Bg hupprnvadlnanlnma

Choose the carrect answer

Conly (2) B,CandD only
Donly (4) A B,CandD
' P HAPS @30
00D 806 S JDAN T HIOD
odod :
A 'Boomrs HB 1HEB HEO'
@R ST Henars,
B. Qd), A95® Beben A
QRR/DY Sotnozren & Y0 IO
o rodimd.
C. 8vora o@ ‘@8 6
DODTVAS & Ersd D" (SErRR)
& DPHSTR) B Tod.
D. |2dod argofn & HPH50E mD
SO OlalRE ST
R JTAVE DDA aD ) oA.
O 27720 JoDE TFohod -
(1) A, BB C Sriesh
(2) B, C 580w D Sriebah
(3) A 3805 D Sresh
J4) A ﬁ. Con8din D

Thu Government of Telangana formulated
the ‘integrated Fisheries Development
Scheme' (IFDS) with a financial outlay of
(1) t5500crore (2) 28,800 crore
(3) 10,000 crore (4) 715,600 crore

O H'Qﬁ Sgabod’ Dngye Soebyg
®DI3H)® WO (FDS) & Beors
(23D 30 Erdododod ?

(1) &55008%) +(2) & 6,800 8
(3) & 10,000 8D (4) & 15,600 Few

Serfes-A



82. Match the following :

Institution & Person
Designation

A. Director General 1. Arvind
of NDRF Jamkhedhar

B. Drug Controller 2. S. Eswara
General of India Reddy

C. Chairman of 3. S. Somanath
ICHR

D. Director of the 4. Sanjay
Vikram Sarabhal Kumar
Space Centre

5. Dr. M. Govind
Hao

808 8D 2458508 ¢

JoP & o S28.

A, d0.B.85.09. 1. ®83508 2808006
BOE0 2305

B. 98508 2. 0. &880
20000 D
=lolm lorhy i

C. a0 3rd.ab, 3. . Al
Bo®

Zo\¢%0 BOED
5 2o. Ao
5 .
Choose the co re/answer :
B ed DONE
Tchod

(1) A-43B-2, C-1, D-3
,(2) d$5 C-2, D-1
(3) A-3, B-2, C-5 D-4
(4) A-2, B-4, C-1, D-5

40118

83. Examine the following statements :

A. Repo rate is the rate at which the
Reserve Bank of India borrows

money from commercial banks within
India.

B. - Reverse repo rate is
the RBI lends mo
banks in.the
funds.

C. The RBI 1ncr%me repo-rate and
reverse r by 25 basis points
to 6.5 5%, respectively on
August 1:2018.

Choase

which
mmercial
shortfall of

mect answer ;

(1}‘@.& only (2) BandC only

( andC . (4) Conly
o & o HBOoS0M ;

2GS EE HOAS'D adag arsofe
Sod  rdach O=dy ol

SHT w5y TPoT Bewd
‘D& Cew' w0drdh,

B. ey ér;oﬁmﬁ: I e
6 J8)ABSSpchy Oaths argos

ad) oSy 00T 3@ Bend
'8:55) D D' ®oerd.

C. i 1,2018 T Bathg argo
B Bend HBcty 838y B

Bénad 25 ZAD Fonod) THpd

ST 6.5% 00D 625% 5O
prlelnlelal

BOTBS BN JoDE Fcwod :
(1) A S8 B SrSH
(2) B SHBGI C Sread
{3) A, B 5805 C
(4) C Srebad
Serles-A



Match the following ‘World Water Day’ themes :

Theme of WWD Year

A. Why Waste Water 1. 2018

B. Water and Sustainable 2. 2017
Development

C. Nature for Water 3. 2016

D. Better Water BetterJobs 4. 2015

5. 2014

‘ Lg.};:m:; N (20) BI0 (WWD) Ia%s0

o)  Ho2odod o0& e
238004
(WWD) FdPgo  HoSédo
A 2erR) St80 2018
DOADAO 20 %
B. 20 0f8din 2. 2017
AV ERS (DS 0SE)
EEANR

C. 200 8% (HEH)a 3. 2016
D. Hod B Hod 4, 2015
&Sgrﬂe_ﬁ
5. 2014
Choose the correct pairs/answer :

BT Bberdy/2a 20 J0HE Tohod

(2) A-4, B-3, C-1, D-5
(3) A-2, B-1, C-5, D-4

o(4) A-3, B-4, C-2, D-1

H'El.

Examine the following statements :
A.In the 18" Asian Games-
Flup:ndar Pal Singh led the
men's hockey team.
B. The games began in Ja
Palembang cities on Augus
C. The closing ceremony of the
Games was held on
Choose the correct an
!1; A and B only
3 Eandi’.‘.nniy

(1) A-2, B-4, C-1, D-3

018

A, 183 ,es?.:. :
2rdeh Sythanes

Sraodbard e
I8 ey o
B & &5 D 2018 SHod =¥T
ool ©F Shioed

J'amén O ﬁo‘&:mﬁ :
Sciio B Sr(ghab

(2) A 8c C Sredad

(3) B suOdin C medah

(4) A, BnGainC

3

86. Examine the following statements :
A. Pradhan Mantri Fasal Bima Yojana
was launched in 2015.

administered by the
Agriculture, Government

K correct answer :
nd B only

A and C only

(2) B and C only
(4) A,BandC
80d agpiod H08Dood

A, 1D Ho@ dowe Dar Heso
20158 |rSoDoSnB08.

B. a3 MO (GFargen,

QDEGTTe0, Dispen), ST Aoesen,

08  orelag 20N/
Hotreds & Dar Hodo S0006.

C. &350 0|6 (DS SgSaraDd
Solad s Ty ASroA.

SO T2 JoHE Tohod
(1) ADOCSw B airjeésadh
(2) B HOCIN C Sr(edad
(3) A SB05H C S
. (4) A BB C

Serles-A

EUIES— e TR e Sy

e e e el R . S (L1 LT



87.

Examine the following statements :

A. Intermnational Monetary Fund (IMF) in
its July, 2018 World Economic
Qutiook (WEO), predicted India's
growth rate to be 7.3% in 2018, and
7.5% in 2019.

B. Organisation for Economic

Co-operation and Devslopment
(OECD) Development  Centre

projected GDP growth rate of India to
be 7.4% in 2018-19 and 7.5% in
2019-20. '

C. The growth projection for India for
2018-19 by the Economic Survey
released by the Indian governmant in

~January 2018 falls withinthe 7.0-7.5
percent range.

Choose tha correct answer :

(1) AandBonly (2) B andC only

(3) AandConly (4) A,BandC

808 i H0OoS0h :

A, w0STAADL (GBS A &5 =D
2018 |1HD0Y L8 %P0 (58
ESNE THeE)S' 2SS, S
Bex 20188 7.3% rr, 20196 ?.EN

GOLNOR WO B0
B. Q¥ Jdisdo, @dHE

(OECD) &8 @ﬁt;ﬁ ¥ _3o|80
PESTE Po BIE S8
Bén 2018-19¢5° 7 019-20¢5"
7.5% ™ 040 T SR0d.

C. 2008 2018 |2ad0es SO
IO TR ‘WYY IS (DSGO
2018-19 HEHSROVE 8 STH 5@
©0oS 70 - 75 TS0 HBAS
AOERD

HOTR, e JoBE TAHod :
‘,m%m B Sr&
(2) B DO C Sredadh

(3) ABC C Arehsd

- (4) A BbawC

40118

31

+ (3)

B8. The 'Golden Man Booker Prize-2018' was

won by the book entitled :
(1) The English Patient
(2) Ina Free State

(3) Lincoln in the Bardo
(4) Wolf Hall
'@ FDS IS 2wEs R M2018" D D
VS0 Mencvsod ?
adron July 13, 2018 10 1ake
cant after the US quit one

(1) &=ofif
(2). 2SS RS
(3) DosSasS G
(4) S8)rS
Iceland was g
organisations over what it
was anti-lsrael bias 7
1ational Bank for Reconstruction
velopment (IBRD)
rmational Monetary Fund (IMF)
nited Nations Human Rights
Council (UNHRC)
World Trade Organisation (WTO)

0’90& Hopes’ 2 HoPd A ThS Sjad

HE>S 858 o efdir D)
3803¢T P wond Henk oheros
132D 2018 Ol D) Swadod 7

(1) =082 2rgo8 HE BESHES
&0l BIDHod (IBRD)

20681 23S 78 Hod (IMA)
ArZHs FAS) JuEdS BS)
2238 (UNHRC)

(4) S8F (B8 aPTBELS (WTO)

Which of the following cities was selected
for 'City Award for showing great
momentum in the Iimplementation of
projects under 'India Smart Cities Awards
2018’7

(2)

(1) Ludhiana (2) Surat

(3) Kochi (4) Jabalpur
‘20808 B 8% ol 2018
808 (AP odHod D

@FH0nS%0tnS0ths Sob i
e o §50 Jobs FabadS Sido
B 7

(1) erdaira
(3) §Q)

(2) Hries
» (4) 2328530

Serles-A



81.

40118

The government of India initiated a
schome called 'Vanabandhu Kalyan
Yojana' (VKY) for the holistic
development and welfare of tribal
population. The scheme was launched on
pilot basis in one block each of the
following states :

A. Madhya Pradesh B. Chhattisgarh
C. ~Tamil Nadu D. Telangana

E. Uttar Pradesh

Choose the correct states/answar :

(1) A, B and D only

(2) A, BandE only

(3) C, D andE only

(4) B, C, Dand E only

BOTN |DBO D ©DSHA SHBCH
DoZHo  Fho rds (Do
‘D0 v Gras’ o SR
H3FDFos. DBE |FBP SIS &
DHFR) B 2.8 W'E T3 500 2
oareS rSoDocrs ?

A DGIHBT B, 38HS

C. a8¥Td® D. oo

E. adinss

SO 2 O/BT20D ODE T

(1) A, B o8akn D S5ebsd
o(2) A, B OO E Sredad

(3) C,D 05w E Sed

: {2} -ﬁgm FOHArE ToBS S B-ad
(3) SuTHS LofdSd BodS B> D
(4) ®wDds BEH P (LoD

3z

83. On July 6, 2018, the Government of India

declared the 438 sq.km. of area around
Mudumalai Tiger Reserve (MTR) as an |
Eco-Sensitive Zone (ESZ). . The |1
Mudumalai Tiger Reserve is located in |
|

(1) Andaman and Nicoba nds

(2) Karnataka

(3) Kerala
(4) Tamil Nad
28 6 201 Ao (DZoed g0
‘S, Bab dxa8s (MTR) &y |
438 ﬁ%ﬂé‘hmé ro=ly -
o) o (ESZ) m |1H%Bodod.
Tl 8282 JE) 4 H0d ?
(I SB6557S 5,605 AErE Bgren
o808
Sov !
4) SE D

World Justice Project's 'Rule of Law
Index’ 2017-18 studied 113 countries.

What was the global rank, India received |
and what was its overall score from a
range of zero (0) and one (1) ?
(1) 58" rank and 0.53 score
(2) 59" rank and 0.52 score
(3) 62™ rank and 0.52 score
(4) 91 rank and 0.41 score
PDD0T IO AP o) 'Ariab
QACDArSP ArdE 2017-2018' 113 BFrod
e350DS0 Tod. &R (Ds*d0 erdetiio
QAwE) W00W TTjosy Q0é 7 oD
™) (0) ol 28683 (1) DS doss
&R rHoW0d ?
(1) 58a) O"§050 OCIW 0.53 &0
(2) 5925 Oorgofo SBdin 052 &

+(3) 625 orgosu HBA 0.52
(4) 9135 O"5050 OGN 041 ¥ S

Series-A |



85. Examine the following statements on the
‘World Water Day’ (WWD) :

A. Every year 'World Water Day' is
observed on 22nd March. 4

8. It's theme for 2018 was 'Safe Water
for All",

C. In 1993, the UN General Assembly
declared March 22 as the ‘World Day
for Water',

Choose the correct answer :

(1) AandBonly (2) AandC only

(3) BandConly (4) A, BandC

1550 20 ASH)N0 S HoodHod

808 0 HB2Oo0d
A D8 D058)00 SPO) 2 T
PDH0Y 2o OSSN0 D

B. 2018 & HOSBIGY @R Fadso
(50) ‘®0%08 DBLSDS D!

C. 1993 & oEiora; SNS =
e&od) &8 22 K 1DHos
ASE 80" I HEBoDoH.

AOTHAS BT ODE ﬂcﬂ;n@

(1) AX8cin B Smeh
@) Amcmém\Q
(3) B 0BA5M C Seh

~ (4) ABXAcinC
96, The longest total | hpﬁa of the 21%

century occurred

(1) July 21-

(2) -July 26-27,

(3) July 27-28, 2018

(4) J ) 2018

215 doey o8 OGS S0

S 0 St 6B ?

& 21-22,2018 .
2983 26-27, 2018
1(3) 28 27-28, 2018
(4) 2D 28-29,2018

40118 33

97. Which of the following are the causes for
the collapse of the Soviet Union in
December, 1991 ?

A. Stagnating aconomy
B. Mushrooming of competifive political
as a result of Glasnost policies.

C. Excessive militanyf

D. Ethnic fragmentati

Choose the correct B ;@
(1) A,BandC onlyw(2) B, CandD only
; A and D only

(3) A Cand l@ f
AR08 1991 BFD0HES rdaie
Mﬂﬂamg) 8o o8BS 2D
s*OeEirenalt o 7
A © Ity QOHOLIL0.

B. O AFTe soomr
és  oaldd IQen

* (e NPV PN YoTalinTeTol :

MDD S558 ©S08 B2 DL®O.
2rebden DANNG0.

(ab@a B oD Tahod :
) A B X8ain C Sredah
(2) B, C n8ci D Sréssd

(3) A, C 58ac%n D SreH
(4) ASBam D Srehah

88. Which of the following statements related

to the French revolution of 1788-80 are

correct 7

A. Signalled the victory of democracy
over tyranny.

B. Signalled the victory of capitalism
over feudalism.

C. Contributed for the rise of mutual
defence alliances in Eurcpe.

Choose the correct answer :

(1) AandBonly (2) BandC only

(3) AandConly (4) A BandC
1789-90 (BOoN ATFVE HowodHod

;E)ud D38R0S (i) HOTSD
o ?
A, QBOSE TOAD (DETRLDS
Aenayso HoSeo. |
B. 2rargids Sioen npasdord
STSTVE SV IV ERTe) 1 Te
C. chrdds’ J80)8 S8e Srddne
. RGOS G360,
DO BT 2D JoNE Tabod:
(1) ADBciD B Arehad
(2) BSB8cin C Sresadh
(3) AnOain C Sredsd
.(4) ABXda»C
Series-A



88. Which of the following countries fought in
the Falklands war ?

A. Arqnntlna

C. France

E. United Kingdom
Choose the correct answer :

(1) A,BandDonly (2) C,DandE only
(3) BandDonly (4) AandE only

ool aindos 8o0d odS 2 Bren
&ororon 7

A. eQodw B. & HOair
C. 13ra) D. 28

E. crg®d fofidd

QOTS 25200 JoDE Tahod
(1) A, B 58050 D Smea

(2) C,D 8cim E Srefsh

(3) B oBdsw D S

(4) A 0Ocin E ar(¢hab

B. Australia
D. Germany

100. The European Union benefited

meamber nations by : @

(1) Reducing barriers to trade
(2) Sharing the expense of
defence

(3) Promoting the use

language
(4) Providing funds*ﬂatanals for

education
ahr&achs abed ST
Siroor & o eodod
w7
$0), (SO0
efotddo

AlelvelnlelnlATs PN1S]
() DB5% Desen,
DErEIR0 SO,
40118

101. Match the following :

List-1| List -1l
A. Cryogenics 1. Study of fossils
B. Cytology 2. Study of :
enomena at 1
ow
perature

C. Nephrology 3. “Study of cells i
D. Falannm Study of kidneys
5. Study of nervous
system
adiS8S0d
aDer -l
1. orzro ediahao .
2. wadse aflide
@5309:50 -
e 3. Sre @QICDM0 :
SN0 4. SrShoare |
e schHd0 |
5. 8 S50
- egidhao

Choose the correct pairs/answer : ;
DO 2derdy/2arzned JoDE E,:;:'i‘.‘:m:n‘.'s:iI
(1) A-2, B-3, C-4, D-1 i
(2) A-4, B-3, C-5, D-2 :
(3) A-3, B-2, C-4, D-5 |
(4) A-3, B-4, C-5, D-1 ‘

Bod &>

102. Young Italy movement was led by two
revolutionaries. One was Garibaldl and
the other major revolutionary was :

(1) Napoieon Bonaparte

(2) Gluseppe Mazzini

(3) Machiavelli

(4) Victor '

aDoff 28D AS5STOE APH DRSTEED |
GO0 SO 7 oS ED
o) P T DDSTEE DSt ?

(1) IHFODS H'edar]

(2) WD) SrAD

A8) Sr8aHad

(4) D5



103. PSLV type satellite launching vehicle is

1056. Match the mllc:-wing_ -

used to launch : List - | ist =1l

A. Remote sensing satellites A. Goitre 1. ‘A

B. Interstellar probes B. Haemophilia 2. wing of eyes
C. Communication satellites C. Jaundice . itamin ‘K’

D. Navigation satellites D. Night ine deficiency
Choose the correct answer . blindness

(1) AandBonly (2) A, BandC only Bof 5480 s

(3) CandDonly (4) A,B,CandD e -

DDRSED HTBrAct e adiTen 2D ?
A, 83rdl DR)OR erd|ffaren

B. &f|zrodd |@28)

C. rored drafiefen

D. &S0 @d|fiaTen

the correct pairs/answer :

| HOTeS BT JoDE Fowod : _
adod/aaand dohE Schod:
". (1) A Bk B Srighd A-1, B-2. C-3, D-4
A (2) A Bn8ain C Sressh A-4, B-3, C-1, D-2
| (3) C 805w D Aredsh - 3) A-3, B-4, C-2, D-1

/g,t} A, B, C &8cinD
104. Examine the following pairs : )

{4} "q'"q"l E'E‘l E'Er D-1

A. Ramdao -~ Father of 106. Radar is used for
Mishra Ecology in In (1) Detecting objects by using light
B. Robert Brown - Father of Mic waves
Biology (2) Reflecting sound waves to detect

C. Anton Van - Di r \ objects
Lesuwenhoek Nucle (3) Determining the presence and
D. Newton - Uni of location of objects with radiowaves

G (4) Tracking rain bearing ciouds
Choose the incorrect :
(1) A, Band D only C and D only
fqh
O

‘T Ed D wotndo aOSrATd ?
(3) Band C only (1) so8 &Sdore D¢ S

and D only

808 2868 58 : SPovas. ‘

A O EART Sa8E850S" A2y &R Sliomre dON0NC T
| - . S KBoSAE S8k SHHe
| . DBTed Hlodards.
| C. - So|k¥od (4) =5Qo S000003 DATOD
| . eD%8008 358 LoD RS
) e 107. Which of the following are called ‘power

. [

| D. "8rgtad - oSS 9 house' of the cell ?
| e s5Qe Jrigdo (1) Chloroplast (2) Mitochondna
| ABFHAIE R 2SOD JODE TALOA : (3) Golgibodies  (4) Nucleus

(1) A, B 8050 D Sre83d

(2) B, C 805 D Sredsd
(3) B 58c5m C Areddh (1) 8 Beny 42) ES'sodcsr
(4) A DHBCH D Sredsd (3) A HysBarenid) Soldso

118 35 Series-A

808 &3S’ T S0 TRy 'DSB FR
R HENTH ?




108. Match the following :
Human disease Causative micro-

organism
A, Cholera 1. Fungi
B. Chicken pox 2. Virus
C. Malaria 3. Bacteria
D. Rustofwheat 4. Protozoa
806 &R 38D8504
3o eOndird
A 4D
A Soo 1. 2Doio
B. &s3m 2. o
C. HBdasr 3. =rfocr
D. Ay 4. P>
Choose the comrect pairs/answer :
QOTN 2ON/23572000 oNE Dohod :

(1) A-3, B-2, C-4, D-1
(2) A-4, B-1, C-3, D-2
(3) A-2, B-3, C-1, D4
(4) A-3, B-4, C-2, D-1

109. Match the following :

List-1] List =i
A. GAGAN 1, Gmmunlcaﬂnnq,
B. GSAT 2.

C. Cartosat 3.
D. Mangalyaan 4,

Earth observ M
Traces méa
Haﬂgn%

808 &N 2856508 ;
Der -1 |
A. 1156 1. adifTro
B. %5 2, o
a0
c.ogrsS a%ﬁ e ehesd
-5 ST

A4, B-1, C-2, D-3
#(3) A-4, B-2, C-1, D-3
(4) A-4, B-3, C-2, D-1

40118 36

110. Instrument used for measuring very high
temperature is :

(1) Pyroscope (2) Pyrometer
(3) Seismograph (4) Xylometer

e 18 & e Fosarad
&OTrAoT HOES0 O ?

(1) 2FD
(3) DFUTD

111. Incraased conce .
in the air Is believed
(1) Acid Rain
(3) Global wa

I o)

DS
(1) es (2) ®&d Adred
-(3), 0 (4) 2008800
112. AWPM in which a substance
oxygen to give out heat is
(1) Combustion (2) Radiation
Flaming (4) Non-combustion
2.8 DErGo elyzsd 85 26580 Sed
R0 830 D805 Jedootrd ?
(1) &3S0 (2) DESe20/BATDAS

+(3) Dofi/agedo(d) S5So RS

113. What is the chronological sequence of the
following events In Indian science scene ?
A. Launching of Rohini-| satellite
B. Pokhran nuclear test

C. Stat of Indian Space Research
Crganisation,

D. First unit of Kalpakkam nuclear power
station going critical

Choose the correct order :

8ST  wRh  Sofes s

NodBdL SoSrdardor 0

OO 7

A. Bard-1 adi @rdodio

B. &S Srilonb H8%

C. a78sé ooddl Ho8ua oY
ngslelale]

D. )50 AriSoHB D58 P Joses
arRdS 89 &4 Tg'Sdo

DOT (F0oM/Bam20:D SonE Tahod :
(1) A,B,D,C (2) B,C,D,A
(3) C,B,A,D (4y DA, C,B

Series-A

e e LR ——— .

e TR s e e s b B— ] i - e e e T

i e S e S



14. Which one of the following hormones is
released in excess during excitement ¢

(1) Adrenaline (2) Nor-adrenaline

(3) Conrtisone (4) Thyroxin

800 J'T NS BB 510" D) Syt BHS

Trerdnd ad)8 edby ST 8 7
(1) o&DS (2) TOBIDS

(3) QS (4) BoSy

15. Oxytocin affects one of the following :

(1) Kidney (2) Bone marrow
(3) Uterus (4) Liver
&2 185 005 (HDOHSA 8 ?

(1) SrSomren (2) s o3P
(3) #Horpdoho (4) s-Eﬁcﬁmi

18. In which of the following, boundaries are
not clrcumscribed 7

(1) Biosphere reserve
(2) Colony park

(3) National park

(4) Sanctuary

(1) 2TrRnchd dasdos
(2) o I8y

(3) raah &y,

, (4) ®Fdrdeago (rok

117. Deficiency of vitamin ' s a disease
known as ;

(1) Beri Ber Goiter

(3) Scurvy Ansemia
LIS ‘N’ Sod 501 o5 (80d
TS 2

(1) =66 2) moned

,(3) 5303 (4) QOLT

0118

118. The main decomposers in an ecosystem

are ;

A. Fungl

B. Insects

C. Prokaryotes
Choose the correct answer :
(1) AandBonly (2) Aan
(3) BandConly (4) A,
JoSten SiSed 1Hor
(A SoFl) FHD D ?

A 3Dogren (Hoh)

B. &&sen *

the sources In the order they

nhactad through the 'hydrological cycle' :
Atmosphere  B. Biosphere
D. Lithosphere

@G. Hydrosphere
Choose the correct order/answer :

808 8" B8 J0ren aﬂm@
A0N 7

(1) A,B,CandD (2) C,A,DandB
(3) D,A,BandC (4) B,C,DandA
| Serass o) oo
BDNOTVOTDAN |50 8FrTod

@08 08 :
A TEI60 (B670H5)

B. #3880 (28rn0h0) A

C. 2erdSwo (FrERyaHb) = @
D. 3erS8eo (DFFNaHE) “
OTeS (E00d/23T2205) HODE Do :

(1) A,B,C, 5805 D
(2) C, A, D, H8cin B
~(3) D, A, B3 C
(4) B, C, D SHBc5 A

o



120. Match the following

Type of Drought Vulnerabllity
factor
A. Meteorological 1. Low soll
drought maoisture
holding capacity
B. Hydrological 2. Poor water
drought management
C. Agricultural 3. Deforestation
drought
808 TR 286000 :
ey B¥o N (S0 -
B8O s~t¥o
A. T35 1. Fodd
$H0208 583 S50 s’
g0

A4 A3, B, C2

40118

121. Match the following :

Type Hazard
A. Geological 1. Chemical, nuclear
hazard
B. Climatic 2. @m,
hazard I
C. Biological clone, drought
hazard
D. Inm'd-. Fires, bomb biasts
h
. 5, Epidemics, food
\ poisoning

@ T BSDHGD0G

s¥0 DHE
A, PGS DG 1. S0HS, v
B. &0 2. #rSoo,
MMV FORTAD
C. AIDEPR 3. ST, S
ADH
D. 2rfFns 4, &f) Mﬁn.
JHH 2P0 endd
| 5. ©O0&Y T,
D eF*So
Choose the correct pairs/answer :
BT BSOD/ZBTZVN DODS Dabod:
A1) A2, B, C3, D4
(2) A-3, B-2, C-5, D-4
) A-2, B3, C5, D-1
(4) A-3, B4, C-2, D1
Series-A



122. Match the following :

123,

List -1 List=H
A. Central Rice 1. Arunachal
Research Institute Pradesh
B. Korba coal mine 2. Chhattisgarh
C. Mishmi hills 3. Jharkhand
D. Uranium 4, Odisha
Cormporation of India
5. West Bengal
808 D 24858508 ¢
Do -| aDer - |l
A. nold DR 66 1. edherdd
AT (DT
B. Fo)Shicen 2. O8RS
C. dayard) 3. 28,08
D. a»Bcoho 4. L4
& BAS @D 5. D%
obair Bormrd
Choose the correct pairs/answer :
HOTDS BSOD/BT20D DONE WAoo :
A1) A-4, B2, C-1, D-3
(2) A-5, B2, C-3, D4
(3) A-2, B3, C-1, D5
(4) A-1, B-5, C-2, D-3
Examine the following pairs .
Plant/Project Location
A. Ukal hydro electric — Rajasthary
project
B. Koyall Qil refinery - Gujar
plant
C. The first hydro

= THMG j’l
Choose the incorrect pairs : \#
(1) AandBonly (2) A ly
(3) BandConly (4) A,?b

808 2808 H830D05ed : _
or 8o/l B % HE¥o

electric plant in India

A. &R ze DHyd o2
2P ¢

B. Fahd 3w - fthaods
Somrdo

C. »rEs8Zio6N - S¥>h
(Pad e sS

0 30 TR adodh Jods Babod :
A 005 B aredah
(2) ASDOASH C Sredad
(3) B SO C Sréadh
~4) A BDOainC

40118

124. Examine the following pairs .

Industry/Project State/Place
A. Inindia, silk ~ Kamataka
Industry is/was
predominant in
B. First modem textile - ;
(cotton) mill in India
C. Largest producer of ndhra

mica (cruds) in Pradesh
India

D. India's first Jate mill — Rishra

was ataﬂe@s

Choose t‘l:m pairs/answer :

(1) A, aﬁnm}a (2) C and D only

(3) A only (4) A, Cand D only

gft:g & H82DoN0A

Y ardaBiosS Hep 1. ST

DO 1B

B. gr&aBiod 2, Hrds
e32ODE 31D
SO 8

C. rostiiod 3. so|BNEs
&85 Snd s
&ed )8 OO

D. résdiod’ 4, B
Ddances
2w Sordo
(DE0EDS (HBHo

JOTMd AadoN/BIWD 0D

Habhod :

(1) A B8k C Sredsdh
(2) C 500 D SrMesH
43) A B 5005 D Srsd
(4) A C0acin D Sressd



125. Examine the following pairs :
Cultivable Command  Project/Scheme
Area
A. More than 10,000 - Major irrigation
hectares of project
cultivable land
B. Between 10,000 - Medium
and 25,000 acres irrigation
of cultivable land project
C. Upto 10,000 acres - Minor irrigation
of cultivable land project
Choose the incorrect pairs :
(1) Aonly (2) Bonly
(3) BandConly (4) AandC only
800 zéed H02O0D0L
S g5 BH/DPEo
OB g
¥Srol (Drodo
A. 10,000 3rFds - Db =008aS
sDOT) Al 3%
Tohre Zr
B. 1000008 - wéoho
25,000 J¥Tre 20088 (2
880 arth -
ToSer 2
C. 10,000D%cre> ~ = oS8 288AS
285 Arth 25
Sabie Hrl
AOTASD 5N 280D JODE iﬂcﬁa
(1) ASmSsH
(2) BaMed

~5) B SH805» C SresdHh

126.

O

(4) AHBdM C Sredad

Following are the tributa river :
A. Jhelum
C. Chenab
Choose the corr uence of
tributaries from no
(1) A,C,DandB A,D,BandC
(3) B,A,Cand B ) C,A,DandB
NOQAr (OGPl BE) DD
god aﬁsa ooy : :
A. #00 B. WO C. 8> D. o0
S50 D ] ¥ SSeRd Dodr &
alng) g e DTS 1ZS5ry
2O o :

a1 D 2805w B
(2) A,D,B8cnC -

f A, Cadaiw D

G. A, DS8dnB

127. Examine the following statements :

A. The highest waterfall in the
Telangana state with a height of
ari'E:m 150 feet is located on Kadem

r.
Mallela Theertham waterfalls Is
located on Pranahita
Bhima is a tributary
Mahavir Vanast
Vanasthalipuram
Hydarabad is famol
Choose the cﬂrract

| ' c and D only
' 4) BandC only
- 8od aéﬁmﬂ&‘u .Aﬂuz‘.ﬁoé:

A. Boonfi'g oS @808 IBS
b 150 salihe
ey & .n'- 5B s &od.

He)/ s80 medo |Sroird
sé% 0.
SO DSr 28 adla.
: oo TS’ e
OG0 3P e DD S5DD
Q a0y oSO |Hne Bododo.
O aaandd JohE Tohod :
(1) ADOAR B Sredsd
(2) C O D Srighsh

487 A HBatn D Sriessd
(4) B 0Odin C Aredzh

128. Which among the following towns In
Telangana are NOT included in the
"AMRUT" scheme, which was launched in

June, 2015 by the Government of India 7
A. Adilaba B. Karimnagar

C. Medak D. Nizamabad

E. Sangareddy F. Suryapet
Choose the correct answer -

(1) A,BandDonly (2) C andE only
(3) EandFonly (4) A C, EandFonly
rdeh (Dol =S 2015 &S
réodotadd 'edyS’ (AMRUT)
Ddkos” o8 ad)d Booredd
Syered’ 22 6 o 7

A sderrd B. %8015

C. &8s D. Rerarard

E. Jomrdd B. droepad
HOPS BT JoDE Tovod:
(1) A, B &Odin D arehad

(2) CHBaiw E Srmeésh
(3) E 0Odbn F aredsh
{47 A, C, E 805 F Sreésh
Serles-A



129. Osman Sagar, one of the earliest sources
of water supply to Hyderabad city, was
constructed in the year :

TETrS SR HoddS JEHor

131. After attaini independence, the
Government of India constituted the

‘National Income Committee’ in 1949 to
compile authoritative estimates of national

income. The committee consisted of :

A. Dr. B. R. Ambedkar
Foo LTSS erdPS  admS B. Prof. R.C. Dutt
C. Prof. P.C. Mahalanobi
P8 D Hoddysos' D80 ? D, Prof. D.R. Gadgl $
(1) 1918 42Y71920 E srﬂ. Vsﬁhaa{rnug c rthy
. rof. Vv.h.R.V. RE
(3) 1937 (4) 1924 Choose the correct answer”
(1) A, Eand F only(2) B, D and E only
130. Which of the following irrigation projects (3) A,BandConly (8 C, DandF only
are located in Adilabad district ? gﬁuﬁxﬂ fﬂ'ﬁm&ﬂﬂ'& hlel
_ & 50 WO
construction) D £20e8 D T oDod. &
B. Mathadivagu project E0eseS gV oedl) ?
C. Neelwai (Neolvai) project A _ :é_}@giﬁaﬁ
D. Sadarmat project B55 5.0, HITOSDD
E. Satnala project ﬂ'gﬂ iﬂﬁ- ”“‘?‘iL €58
: 8§ DopArdD
Choose the correct answer es; D6l o
(1) A, B, DandE only b BEDS 27200 JoHE Faho
2) AB E onl (1) A, E SHBak F Sreghad
i1 Fu B aho S0y (2) B, D 5805w E Smah
(3) C,DandE only N (3) A, B H8ain C Sy
(4) A, BandC only 44) C,D H8%» F Sriebad
808 DTRSAS HAES DG D | 182, Sri pg;m Saﬂ{ar project (SRSP) does NOT
su drinking water to which of the
SIS BTE aTIc? % following towns/clties ?
A Se-Soer Lﬂ-ﬁ%u@ A. Adilabad B. Mancherial
C. Medak D. Nizamabad
a8) E. Warangal
B. H&H b 2P ﬁr;uqfaaﬂ'la gﬂcrractl answer :
, B and C only
C. Qergon (2P g% g g. C dané:! D Iunlar
, D and E only
D. QLS ar o 4) Band C only
E. dmyer(s z gﬁ R oo =HdS
DO THAD SHTeR/Seen
RO & Q0DE Fahod : A sderard B. Sodoie
(1) AB, E Sred E émﬁ T @) dersrerss
X o
{2) A, E e DO B0 JODE TaHod

(3) C,D D00ty E Smedad
J4) A B 5B C Sr&8H

40118

41

(1) A, B &8cho C Sriesh
#(2) A, B, C 805w D Smehsd
, D s8oin E sSrighsh
(4) B SHBAM C Sredsd



133. Examine the following statements about

Dr. N.C. Saxena Committee .

A. The Ministry of Rural Development,

Government of India constituted

Dr. Saxena Committea on Octobar 2,

2008,

B. The committee submitted its repor

on August 21, 2008
C. For automatic exclusion of
households from the BPL list,

rural
the

committee recommended indicators
such as ownership of motorised
vehicles, ownership of mechanised

farm equipment etc.
D. For automatic inclusion of

rural

households into the BPL list, its

recommendations
woman headed households.
Choose the correct answer :
(1) A,BandConly (2) B,CandD

include single

only

(3) A, CandDonly (4) AandD only
E8 280 S D b

DSG@ed H03Dotob

A 2008 efad 285 pds (Hheg
TSy SoBdssry @Rl

.2, D8y
RoBapood.

ganedn
g

B. & 5ed &5 0% 2009 &

2125 faB)o00b.

C. DHS. =D ol %
foirerd o8 DHasEm :

ool  Irerd

OIro|Bs SySarod FAarh SO
S00erd) 28 rigdfor &
g0 Hrdodod

D. DIHDS. ‘ \IPa0ED
BParered v afHassm

S ¥ San e IS

5 ol B8 SHFad.
B0 JoDE ToHod :

(1) A, BhAdin C Sresh

(2) B, C 0w D Srebsd

(3) A, Co8ctin D Srighad

(4) A SHdctn D Sredsd
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134. As part of the national income analysis,

personal income includes :
. Direct taxes
Indirect taxes

Depreciation

Transfer pai.rmanm
Exports and imports

. Intermediary goods
Choose the correct answer ;

>

MmMpO®

(1) A, BandC only (2) E only
(3) AandDonly (4) and F on
Fadrordh dih orr, Dok
sorobod’ alnd sorwn 808
T3S D7

A, (D658 Dadoyem Be E:giﬁ&‘ulm
C. &G 4 0. 260 3DoHew
E. Dibadehiem,Oaeen

F. 0GOS Sabagen

50T BT 2008 TaHod :
(1A, Befoin C Sredsd

(2) B, cin E Sriesad

| a0 D SR
%E, E S8ain F Sreéadh

a%lndian Planning Commission, in the
Five Year Plan, defined an

QO

underdeveloped country as one which Iis

characterised by :

(1) Co-existence of wunutilised or
underutiised manpower and of
unexplored natural resources

(2) Co-existence of industrial and
agricultural sectors

(3) Co-existence of highly developed
infrastructure, poverty and
unemployment

(4) Co-existence of lower exports and
higher imports.

S Doty ﬁ}::m'%efs‘ Derds

Boduo %08 o8BS ¥ oo ST

305088 Tiod JisDodod. ubd

o0l ?

(1) Srdd Sedhe ®DAIrhe s
oo ) ASHErier J80kn 3D 0HSD
D Seddoen 0N arodidio.

(2) BTE, SgS>radh Sorren EOD
&OGL0.

(3) wsydHa Ao eddomr
©)I3)e Tod aoddo HOAD
5080, A 5Nes St oo,

(4) ®o) Jthden, edf Hibddien
3O FOAL0.

Series-A



136. Prof. Amartya Sen, an Indian economist
was awarded the 1998 Nobel Prize in

40118

Economic Sclences.

Which of the

following books were authored by him ?

A.
B.

C.
D.

The ldea of Justice

Essays on Inclusive Growth and
some Reminiscences

The Argumentative Indian

The Country of First Boys : And
Other Essays.
Waste of a Nation : Growth and

Garbage in India

Choose the correct answer :

(1) A, B, D and E only

(2) A, Cand D only .

(3) Cand E only

(4) B, C and E only

el Do’ 1998 S'BS ;’gﬁil'arn-:}l
arSach elidS eords 88 B

pTuEBod. 808 (ogred u;aag;,

R0 (20f0S") HDODID D 7

A
B.

E.

& dAdir ah 2900
)0 &S ROSFAS Ll_‘!‘ﬁ.sﬂ
MV ATS

& a8diDoBeds a0
& %o oD 5%
BRTS)

30 ah ) JX

[ Tonle]

©ol mdyr

20 oA
DO aaa@gg Foos :
Qﬁ/ ABD

(2) A C

E S e83h
D S ebah

(3) C Hdakn E Sriedsd
(4) B, C nbain E Sredah

137. Which of the following committees was
appointed in the year 2004 to look into the
implementation of land distribution and land
legislation by the Government of A.P. 7
(1) Roshaiah Committee
(2) Koneru Ranga Rac Committ
(3} Ch. Hanumantha Rac Com
(4) Jayathi Ghosh Committ
e Doded H D
DviodaRd 2
192065 50 & E0edD D
A1) g sa0ed

(2) SRS Sorors §
AB) Nerd. v

(4) achel e

138. Examine ying statements about
the x ratic' as per 2011

a8 -._-.
:” gana :
A T 19:4 1= io of Telangana was 988

mment of Telangana
i implies that it is not in favour of

owy el

district—wise sex ratio, eleven

districts of Telangana had more
male population than male
pulation.

ex ratio in thirteen districts was less
than the state average.

. Sex ratio in twenty one districts of
Telangana was more than the state
average.

Choose the correct answer :

(1) A,BandDonly (2) A and C only
(3) Band[lunlyr (4) A, BandC only

2011 27y 852w 2idn dvorw

Do Hrdo ‘mareyr Dol KD

80D 808 DSGBeM H02Dot0d

A. EcomrssS 2011 & Dol dHB
988. ©0H ©6 (Yo% eHEroor
DA D00,

B. 2o o0 Sofs A8 1Hso,
Eunn‘meﬁ‘a na DA BT
5ot | & 2o edgor &od.

C. Jo0Hrd 209 Sons 28
Ol e S0t S80S &od.

D. 21 29 SofE D28 o7 Hiew
0% D505 &0d.

0TS 220D o8 ohod :

(1) A, B S08ain D Sresdh

2T A 8ai» C e
(3) B n8ciy D Sredsh
(4) A B 28050 C Sresdh

Series-A



138. During the Nizam rule, upto 1853 (prior to
Salar Jung's reforms) Talugdars were
allowed to keep aside a part of the land
revenue collected from the farmers as
wages. How much it was ?

(1) 1/8" of land revenue

(2) 1/5™ of land revenue

(3) 1/8™ of land revenue

(4) 1/4™ of land revenue

arerbzofl doddnol Jdsje Ao

TOSS 1853 SOH EANsTriien

Saren TR NS Jod arfio JsSomr

TOoBarE 520 50 ®DDSODOH ?
11 S S 1/6 &S Sodd

(2) 25720 FNS" 1/5 S S0k

(3) e IS 1/8 S Sok

(4) 2500 2S 1/4 S S0

140. As per 2011 Census and Government of
Telangana, the following districts of
Telangana had more than average state
per capita income at current prices in
2016-17 (FRE). Arrange these districts in
descending order on the basis of their per
capita income :

A, Hyderabad B. MadchmuMalkE]gl
C. Rangareddy D. Sangareddy
Choose the correct order/answer :

(1) A,C,BandD (2) B.A,

(3) D,B,AandC .

2016-17 (FRE) O'|a 00
aoroho o uﬁ 0d. |Hryed

e $edd e srdomr &
Bererdd) @ (S0’ 608 :
A. SO Dy S-Joery LR
C. oo . Domrde

(2) CeOcin D
(3) D B, A Bain C
(4) C, A, Bbain D
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141. Examine the following in relation to the
position of the Prime Minister of India :

A. Leader of the Cabinet

B. Chief spokesperson in foreign
relations

C. Head of the State

D. Leader of the Parliam

Choose the correct

(1) Aand C only | D only

(3) A, Band C only % and D only

808 HAHos HIE ::mﬁ ol

AN HD)

A O3S 8d

B oBeTO :J:h-:ﬁrui) NS

G D

D 55 ook

B &) JONE Tahod

798 56010 C ST
) G $B80%w D Sy
(3)) A, B 5805 C Sriesdh
wa) A B o805 D SresTh

.* Maich the following Geographical
Indication tags with their places in
. Telangana :

G.l. Tag Place
A. Silver Filigree 1. Warangal
B. Scroll painting 2. Pochampally
C. lkat 3. Nirmal
D. Dhurries 4. Karimnagar
5. Cheriyal

80 adtads THYE SrSS (G

ersfys e Howodsd (HTTes
2856008 :
Gl &gl HE¥o
A. Dot adh 1. Soird
B. &S Dowodlol 2. £FSodd
- C. a5é 3. NS
. D. &iben 4, 380516
5. TJocird
Choose the corract pairs/answer :
JODS BdOS/BT200 JoDE Tahod :

~ (¥A-4, B-5, C-2, D1
(2) A-5, B-2, C-4, D-1
(3) A-3, B-5, C4, D-2
(4) A-1, B-3, C-2, D4

Series-A



143. The members of the Legislative Councli
are appointed through :

A. Direct elactions

B. Indirect elections

C. Nomination

Chooss the correct answer :

(1) A,BandC (2) AandC only
(3) BandConly (4) AandB only

T odd Hibien S8
TS0 IO ?

A, 10858 D) E ST

B. ST dJMEcrio

C. adirdnfo oo

DO 237200 JODE FAHoA :
(W A, BSD8ainC
2y A SHBcin C Sré3d

(3) B HBakw C Smeadh

(4) A SBckw B Sredsd

144. Which of the following statements is NOT
correct about the Supreme Court of India 7

(1) It was constitutad in 1850, i

(2) Itis the highest court of appeal in the
country.
(3) It can hear from any court/iribunals

as well as from court-martial.

(4) It can hear from any cou
axcapt from court-martial,

2rEST4 omo TP Do

Dssods’ D& au@.ﬁeﬁ
M7 ADD 1950 & % ;

2) 2d SHos

Friaale0. |
(3) =28 h@u- W%

(4) =& 8¢ 15 ASTFonod) I3
e d:r #8205 ) ool ardden
Sededtd).
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145. Which of the following provisions of the
Indian Constitution came Into force from
November 26, 1949 7
A. Provisions relating to citizenship
B. Provisions relating to elections
C. Provisions relating to Pariamant
D. Fundamental Rights 5

Choose the correct answer : |

1) AandConly (2} A, GandBonly
3) A,BandConly (4) B andBon

orgofioS'n  80d @ ATa

302 26, 1945 DO BENd S 5D YOO 7
: S8 020000V

B. 2} 505 do20H0outl NDOGSED

C. &we D5 0 RODOHODN

08 Se

amine the following in relation to 73™

onstitutional Amendment ;

A, Reservation for women in Panchayats,

. Panchayats shall not be dissolved

t",'.f’f“ completion of the stipulated
m

Q) C. State Government shall ﬂﬁi:lnt a

Firmeanmmhnfnr

D. Empower Panchaya rapare
plans for emnnrnl:: davalapmant and
social justice.

Choose the correct anawer :

{1; A and B only { C and D only

3) A,BandConly (4 Acandnanly

73 & ool D50 odHESarNS
~020H00) 806 P AT
50890 0oc50d :
A. doorohand’ XLtrded 8228 ¢4,
B. 8 Hthy%H Swol Homronsed
B FahErescs.
C. Ola) |920eb 50 D8 9 MoSes e
TEPB DAS) 1A mm@a&.
D. Q8 D359 AL
oo .f:n:: (ST PEen
Srdrodotierty HoTranaed
5038 Tahdo.
ROTR T2 doNE Tahod :
(1) A Odin B srebalh
(2) COckw D Aressh
43) A, B OGN C Amedzh
A&7 A, C 56050 D Sm&H



147.

WHch of the following conditions are
r% for the issue of "writ' of quo-
warrantu

A. The office must be public and must
ba created by a statute or hy the
Constitution itself.

B. The office must be substantive one
and not merely the function or
Errnén yment of a servant at the will

during the pleasure of another.

C. There has been a contravention of
'liha Constitution or a uﬁs}tauﬂﬂw
nstrument, in appointing such person
to that office.

Choose the correct answer

sg A BandC 2) Band C only
3) A and C only 4) A and B only
808 2 HBYheS' .00 08 =8
Sabardiehod ?

A. 5or00h0 |[H2bed ol Somd.
werl ozrjofio SnE) TS
oo O oergoiio ovgor
Srdrododaard.,

B. STe000 @70 S50 26 Hdan
soiddnd arén adde ad)
2O BITSoS Erdsh Ired
sHooar dho G o d.

C. 25 538 Nasrsvdo oargolio Tor
oo dbdor 2onshond.

DOTDA Barawad) DonE Tobhod

—~1) A, BSOc»C

148,

40118

(2) B H8akn C Srisdhah b
(3) A BN C Sriedad \
(4) A 0G5 B Sredah

Which of the following schemaes,
coverad under Jan Eumksha

C. Pradhan Mantri Jesvandygti Bi
D. Atal Pension Yojana
Choosa thae correct answet...

é A B and C only {2

DA BT DS TBrases
r OIS #2355 48 HAr drad

@ . C-:&:ﬁcﬁ:a D 3m&h
3) A, C B8 D I
(@) A B, C 5805 D

148. Which one

among the following

statements regarding the constitutionally

guaranteed Right to Education in India is

correct 7

(1) This right is a child right covering the
age group of 6 to 14 years and
becomes operational from year 2014.

(2) This right covers both chiid and adult

and therefore guara Sducation

o ;
(3) Th given to all Indian
children between 3 of 6 to 14
under Gnnstlnmnnal
from British

which was the first
gtate imthe world.

BT TN S0 osbod
6-14  Sdbiny%
nﬂé VO DS Ao
28008,
H; oen Hid
aoiraded dowodHodod Sl

28 0058 DHos DSED T

Yo A,

3) & Sy 2rdsd 2re@S 6-14
Sohen) e o088 868 oTrerjolf
ol oo & edsdo
000520808,

(4) & FHy (DHdodods Bl
Hoi o g‘f_ﬁﬁ DD oargolio
ool SuTadod.

150. Which of the following is correct about the

Fundamental Duties 7

A. These are not enforceable.

B. 'rli'hﬁlt: are not related to any legal
C. T1r1-eu1;.|r ara primarly maral duties.
Choose the correct answer :

(1) AandBonly (2) AandC only
(3) BandConly (4) A BandC

808 o8S Mg e HBoD
DO o) ?
A. 32 ®den TobadTd.
B. @) oS0 OGO aTH0 0 5.
C. a2 |rPSor Jeas ddoew.
HOTS a2 JODE Tahod :
(1) A DBk B Sredah
(2) A 58050 C Aredsd
(3) B S8 C Aredsh
(4) A BSBcnC
Serfes-A
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